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Question Label : Comprehension

The following table shows the number of employees working in five different colleges A-E, alongwith
the ratio of Males to Females [M : F] among them. Based on the data in the table, answer the
questions that follow.

College-wise Details of Employees

College | Number of Employees| Ratio
M:F

A 3040 13:6

B 3360 4:3

C 2920 9:11

D 2760 10:13

E 2840 137

Sub questions

Question Number : 1 Question Id : 87827041826 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

What is the total number of male employees taking all the Colleges together ?

(1) 8120
(2) 8240
(3) 8360
(4) 8560
Options :

878270164241. 1
878270164242. 2
878270164243. 3

878270164244. 4

Question Number : 2 Question Id : 87827041827 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What is the average number of female employees taking all the colleges together ?

(1) 1312
2) 1372
(3) 1336
(4) 1292
Options :

878270164245. 1
878270164246. 2
878270164247. 3

878270164248. 4

Question Number : 3 Question Id : 87827041828 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 2 Wrong Marks : 0

The number of male employees wotking in Colleges A and C together is approximately %
more than the number of female employees working in colleges B and D together.

(1) 9

(2) 15

(3) 11

4) 13

Options :
878270164249. 1
878270164250. 2
878270164251. 3

878270164252. 4

Question Number : 4 Question Id : 87827041829 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

What is the ratio of female employees working in College D to that in College E ?

(1) 7:4
(2) 780 : 497
(3) 390 : 491
(4) 9:5
Options :

878270164253. 1
878270164254. 2
878270164255. 3

878270164256. 4

Question Number : 5 Question Id : 87827041830 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



The number of employees working in College C is approximately % more than that in

College D.
() 8

(2) 6
3 4
(4 10
Options:

878270164257. 1
878270164258. 2
878270164259. 3
878270164260. 4

Question Id : 87827041825 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (1 to 5)
Question Label : Comprehension
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A 3040 13:6
B 3360 1:3
C 2920 0:11
D 2760 10:13
P 2840 13:7

Sub questions

Question Number : 1 Question Id : 87827041826 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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(1) 8120
(2) 8240
(3) 8360
(4) 8560

Options :

878270164241. 1
878270164242. 2
878270164243. 3

878270164244. 4

Question Number : 2 Question Id : 87827041827 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1) 1312
(2) 1372
(3) 1336
(4) 1292

Options:

878270164245. 1
878270164246. 2
878270164247. 3

878270164248. 4

Question Number : 3 Question Id : 87827041828 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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878270164249. 1
878270164250. 2
878270164251. 3

878270164252. 4

Question Number : 4 Question Id : 87827041829 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1) 7:4

(2) 780 : 497
(3) 390 : 491
4 9:5
Options :

878270164253. 1
878270164254. 2
878270164255. 3

878270164256. 4

Question Number : 5 Question Id : 87827041830 Question Type : MCQ Option Shuffling : No Is
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Instruction Time : 0
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Question Number : 6 Question Id : 87827041831 Question Type : MCQ Option Shuffling : No Is
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Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

An economics teacher wants to create an infographics to explajn supply and demand to her students.
Which of the fo]lowing tools would be most suitable ?

(I) Edpuzzle
(2) Canva
(3) Quizlet
(4) Mindmeister
Options :
878270164261. 1
878270164262. 2
878270164263. 3

878270164264. 4



Question Number : 6 Question Id : 87827041831 Question Type : MCQ Option Shuffling : No Is
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Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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878270164261. 1
878270164262. 2
878270164263. 3

878270164264. 4

Question Number : 7 Question Id : 87827041832 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I:  Norm referencing is used to interpret a score of an individual by comparing it
with those of other individuals.

Statement I :  Criterion referencing is used to interpret a person’s performance by comparing it
to some specified behavioural domain.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement Il are incorrect
(3) Statement I is correct but Statement II is incorrect
(4) Statement I is incorrect but Statement I is correct

Options :



878270164265. 1
878270164266. 2
878270164267. 3

878270164268. 4

Question Number : 7 Question Id : 87827041832 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270164265. 1
878270164266. 2
878270164267.3

878270164268. 4

Question Number : 8 Question Id : 87827041833 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are the elements of observational learning ?
(A) Production

(B) Attention

(C) Identification

(D) Retention

(E) Motivation

Choose the correct answer from the options given below :

(1) (B), (C) and (D) Only

(2) (A)and (E) Only

(3)  (A), (B), (D) and (E) Only
(4) (C) Only

Options:

878270164269. 1
878270164270. 2
878270164271. 3
878270164272. 4

Question Number : 8 Question Id : 87827041833 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270164269. 1
878270164270. 2
878270164271.3

878270164272. 4

Question Number : 9 Question Id : 87827041834 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

In "VARK' model of learni_ng st}fles, ‘A" stands for

(I) Auspicious
(2) Augmentary
(3) Authentic
(4) Aural
Options :

878270164273. 1
878270164274. 2

878270164275. 3



878270164276. 4

Question Number : 9 Question Id : 87827041834 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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878270164273. 1
878270164274. 2
878270164275. 3

878270164276. 4

Question Number : 10 Question Id : 87827041835 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

When a very bright light is incident on our eyes, we immediately close our eyelids.
This is an example of

(1)  Biological instincts

¥

(2)  Reflex actions
(3) Desired instincts
(4)

Intrapersonal instincts
Options :

878270164277. 1
878270164278. 2

878270164279. 3
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Question Number : 10 Question Id : 87827041835 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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878270164277. 1
878270164278. 2
878270164279. 3

878270164280. 4

Question Number : 11 Question Id : 87827041836 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

[dentify the disadvantages of open ended questions in survey research.
(A) The questions do not suggest certain kinds of answer to respondents.
(B) They are time consuming for interviewers to administer.

(C) They require greater effort from respondents.

Choose the correct answer from the options given below :

(1) (A)and (B) Only

(2) (B) and (C) Only
(3) (A)and (C) Only
(4) (4), (B) and (C)

Options :



878270164281. 1
878270164282. 2
878270164283. 3

878270164284. 4

Question Number : 11 Question Id : 87827041836 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270164281. 1
878270164282. 2
878270164283. 3

878270164284. 4

Question Number : 12 Question Id : 87827041837 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



In a reference written in APA style, arrange the information pertaining to the reference in correct
order.

(A) DOI number

(B) Volume number

(C) Name of author

(D) Title of the article

Choose the correct answer from the options given below :
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Options:

878270164285. 1
878270164286. 2
878270164287.3

878270164288. 4

Question Number : 12 Question Id : 87827041837 Question Type : MCQ Option Shuffling : No
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Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
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878270164285. 1
878270164286. 2
878270164287. 3

878270164288. 4

Question Number : 13 Question Id : 87827041838 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A research study is said to have heuristic value if :
(1) It leads to no further research

(2) It generates more research
(3) Its results lack consistency
(4)  Its results lack validity

Options :

878270164289. 1
878270164290. 2
878270164291.3

878270164292. 4

Question Number : 13 Question Id : 87827041838 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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878270164290. 2
878270164291. 3

878270164292. 4

Question Number : 14 Question Id : 87827041839 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

An entrance examination with objective type questions is conducted. For each correct answer, 1
mark is awarded and for each incorrect answer .25 marks are deducted. The number of marks
scored by candidates who appeared in the examination, is an example of :

(1) nominal variable

(2)  discrete variable

(3) ordinal variable

(4)  continuous variable

Options :

878270164293. 1

878270164294. 2

878270164295. 3

878270164296. 4

Question Number : 14 Question Id : 87827041839 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
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Options :

878270164293. 1
878270164294. 2
878270164295. 3

878270164296. 4

Question Number : 15 Question Id : 87827041840 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement [ ;  Medical research usua]ly involves pain or distress in animals.

Statement I1:  Psychological research is usually benign and may mvolve little, if any, discomfort
for the animals.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement I are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement Il is incorrect
(4) Statement I is incorrect but Statement II is correct
Options:

878270164297. 1

878270164298. 2

878270164299. 3

878270164300. 4

Question Number : 15 Question Id : 87827041840 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270164297. 1

878270164298. 2

878270164299. 3

878270164300. 4

Question Number : 16 Question Id : 87827041841 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A photograph constitutes a/an :

(1

) Protective text
(2) Refined text
(3) Closed text
(4) Open text
Options :
878270164301. 1
878270164302. 2
878270164303. 3

878270164304. 4
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Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270164301. 1
878270164302. 2
878270164303. 3
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Question Number : 17 Question Id : 87827041842 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

The Buddhist concept of communication is marked by :
(1) Mono-causality

(2) Dyadic causality

(3) Multi-causality

(4) Skewed causality

Options:

878270164305. 1

878270164306. 2

878270164307. 3

878270164308. 4

Question Number : 17 Question Id : 87827041842 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
(1) ThA-HROl

(2) TgF-Hrom

(3)  ST&—<hIUId

(4) U FHEEI
Options :

878270164305. 1
878270164306. 2
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Question Number : 18 Question Id : 87827041843 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

At present, cyber communication is a :
(1) Fictitious reality

(2) Palpable reality

(3) Futuristic reality

(4) Conventional reality
Options :

878270164309. 1
878270164310. 2
878270164311. 3

878270164312. 4

Question Number : 18 Question Id : 87827041843 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
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878270164309. 1
878270164310. 2
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Question Number : 19 Question Id : 87827041844 Question Type : MCQ Option Shuffling : No
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Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The main objectives of public policy sphere communication is to involve citizens in :
(A) Idea generation

(B) Policy critique

(C) Innovative policy practices

(D) Ignoring oppositional views

(E)  Promotion of stereotypes

Choose the correct answer from the options given below :

(1) (A), (B) and (C) Only

(2) (B), (C) and (D) Only
(3) (C), (D) and (E) Only
(4)  (A), (D) and (E) Only

Options :

878270164313. 1
878270164314. 2
878270164315. 3

878270164316. 4
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878270164313. 1
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Given below are two statements :

Statement [ ;  Western communication models examined the relaﬁonship among communicative
elements on an individual basis.

Statement Il ;  The Buddhst concept of communication emphasises the contextualisation of each
of the communicative elements.

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false
(3) Statement I is true but Statement II is false
(4) Statement L is false but Statement Il is true
Options:

878270164317. 1

878270164318. 2

878270164319. 3

878270164320. 4

Question Number : 20 Question Id : 87827041845 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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F]: YO SR WEE § SR YR TGS d@l % 6 i & g & |
WL : TR H g IR H Yo WA 7 & Fefie w aw fom @ g

IR e & S W, T4 U T foeredl H § W S o I

1) HORIAR W T

D) AR R 1 3 o £

) @R 1§ ¢, Ol e 1 o €

4) A1 &, Vi RO T &

L]

(
(
(
(
Options :

878270164317. 1

878270164318. 2



878270164319. 3

878270164320. 4

Question Number : 21 Question Id : 87827041846 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A man, a woman and a boy can do a piece of work in 6, 9 and 18 days, respectively. How many
boys should assist one man and one woman to do the work in one day ?

(1) 13
2 1
3 11
() 10
Options :

878270164321. 1
878270164322. 2
878270164323. 3

878270164324. 4

Question Number : 21 Question Id : 87827041846 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

T %0, T Hfeell N T acrd: foret o 1 90 6, 9 S 16 fed B 0 9 & | T Wfeen 3% @
6 1 7 ) G et ol ot o foru, Foil airehl o1 Smaen o Sfiaveeeel 2 7

(1) 13
(2) 15
3) 1
4) 10
Options :

878270164321. 1

878270164322. 2



878270164323. 3

878270164324. 4

Question Number : 22 Question Id : 87827041847 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A family consists of 6 members namely A, B, C, D, Eand F. B is the brother-in-law of C's mother.
Cis the father of F. Dis the father of Xandf is the grandson of D. There are two female members
in the family. Which of the following pairs represent the female members in the family ?

Aand D

Options :

878270164325. 1
878270164326. 2
878270164327.3

878270164328. 4

Question Number : 22 Question Id : 87827041847 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

A,B,C,D,E #IF 719% 98 9@ W WeR § &1 B,CH AT AL el CFafmel D, A
TARE, DF A &1 ofEm § < wfee €| Freifefen # 4 91 91 9w ofEn § afeen wew 9 i
g’

() AZRD
() DHRE
(3) A3RE
(4) BERC

Options :



878270164325. 1
878270164326. 2
878270164327. 3

878270164328. 4

Question Number : 23 Question Id : 87827041848 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Find the number that can replace question mark (?) in the series given below.
15,5108 18,275,489, %, .

(1) 48.5
(2} 2258
(3) 625
(4) 725
Options :

878270164329. 1
878270164330. 2
878270164331. 3

878270164332. 4

Question Number : 23 Question Id : 87827041848 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

T T T Ffe S A & gEen § wwaras: fag i ufrenf 9w gee
15,5, 105, 18, 275,39, 2. .,

(1) 485
(2) 525
(3) 625
4) 725



878270164329. 1
878270164330. 2
878270164331. 3

878270164332. 4

Question Number : 24 Question Id : 87827041849 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A child is looking for his father. He goes 100 meter towards east and then turns to his right and
goes 30 meters. From there the child again turns to his right and goes for 40 meters. Where he
finds his father at his uncle’s place. How far is his uncle’s place from the starting point of the
child ?

(1) 3045 meter
(2) 40 meter

(3) 4045 meter
(4) 30410 meter
Options :
878270164333. 1
878270164334. 2
878270164335. 3

878270164336. 4

Question Number : 24 Question Id : 87827041849 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



e ] 319 iR A 4% T €1 9 T A SR 100 R S € S R e aife g o € e 30 e
W8 | T T A St T & e 40 F S €, W) o oA ST o R R A o o o
¢ T % o s 3 39 9 A R R @ e

(1) 305 e

(2) 40"

B) 405 T

C T

Options:

878270164333. 1
878270164334. 2
878270164335. 3
878270164336. 4

Question Number : 25 Question Id : 87827041850 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In a certain coding language :

(a) 1000 ie. 10° is coded as 1331

(b) 125i.e.5%is coded as 216

How 729 will be coded in that language ?

(1) 1000
(2) 1728
(3) 1331
(4) 2197
Options :

878270164337. 1
878270164338. 2
878270164339. 3
878270164340. 4



Question Number : 25 Question Id : 87827041850 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
gfe fordl e W o :
(a) 1000 21T 10° &1 1331 % ®9 H FHfeq fomam 701 ©
(b) 125 1eifd 5° F1 216 F &9 H Ffeq foFan 7 €

dl 39 9T H 729 k1 Y Hied fopan smam ?
(1) 1000
(2) 1728
(3) 1331
(4) 2197
Options :

878270164337. 1
878270164338. 2
878270164339. 3

878270164340. 4

Question Number : 26 Question Id : 87827041851 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the following statements are contradictory to each other ?
(A) All plants are fungi

(B) No plants are fungi

(C) Some plants are not fungi

(D) Some plants are fungi

Choose the correct answer from the options given below :
(1) (B) and (D) Only

(2) (A)and (B) Only
(3) (C) and (D) Only
(4) (A) and (D) Only

Options :



878270164341. 1
878270164342. 2
878270164343. 3

878270164344. 4

Question Number : 26 Question Id : 87827041851 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
frfafea o #9-9 %97 TF TH S AT © 2
(A) T WY FF T |
(B) HIZ UreN FHeleh e o
(C) Fo W Tk el ¢
(D) F® Y FIF ¢ |
= fou 7o fowedi § 9 W& SO 1 999 Hife
(1) = (B) 3R (D)

(2) FaA (A) AR (B)
(3) A (C) X (D)
(4) FaA (A) 3R (D)

Options :

878270164341. 1
878270164342. 2
878270164343. 3

878270164344. 4

Question Number : 27 Question Id : 87827041852 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



[f the statement - “All trucks are po]lul‘ing vehicles” is given as false, then which of the follnwing
statements can be immediately inferred to be true ?

(I) Some trucks are polluting vehicles.

(2) Some trucks are not polluting vehicles.
(3)  No trucks are polluting vehicles.
(.

=y

) No polluting vehicles are trucks.

Options:

878270164345. 1
878270164346. 2
878270164347.3
878270164348. 4

Question Number : 27 Question Id : 87827041852 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

o Fem - 9 7% TeuE A €1 e fem e € @ Pt F € dR-A A Y R W
T 1 Wl & 7

(1) %9 7 I e

Q) T3 7% T e T ¢
(3) ot 7 T A I ¢
(4) o U e 2% ) ¢
Options :
878270164345. 1
878270164346. 2
878270164347. 3

878270164348. 4

Question Number : 28 Question Id : 87827041853 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Which of the following statements is equivalent to the statement - “Some philosophers are not
idealists.”?

(I) Some philosophers are not non-idealists.

(2)  No idealists are philosophers.

(3)  Some non-idealists are not philosophers.

(4)  Some non-idealists are not non-philosophers.
Options :

878270164349. 1

878270164350. 2

878270164351. 3

878270164352. 4

Question Number : 28 Question Id : 87827041853 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
frfafea # @1 wua-' o gnifr goger =& €', % 9nqe 87
(1) T SRIHF T-JagamK] T8 © |
(2) IS TAFAE! QR el © |

(3) F® R-TIFaR! S el 2 |

(4) TP T-YIFas! T-gRIE Tl © |

Options :

878270164349. 1

878270164350. 2

878270164351. 3

878270164352. 4

Question Number : 29 Question Id : 87827041854 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Which fallacy is involved in the following statement “Indian pharmaceutical companies are
p‘ro[itabl& therefore, average Indian pharmaceutical company is pmfitable"?

(I) Fallacy of Division

2

Hasty Generalisation

2
(3)  Slippery Slope
()

4)  Fallacy of Accident

Options :

878270164353. 1
878270164354. 2
878270164355. 3

878270164356. 4

Question Number : 29 Question Id : 87827041854 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

vt e & SF- 7 W Tl ¢ - (R s et aven § g o R

T O R

(1) fourem = 7 g
(2) et JHE
(3)  ToHerR Ze

4
Options :
878270164353. 1
878270164354. 2
878270164355. 3

878270164356. 4

Question Number : 30 Question Id : 87827041855 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I:  The Aristotelian syllogism is only inductive and formal.
Statement 11 : N}f:iya sy]logism is deductive - inductive and formal-material.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false
(3) Statement 1 is true but Statement II is false
(4)  Statement I is false but Statement II is true
Options :

878270164357. 1

878270164358. 2

878270164359. 3

878270164360. 4

Question Number : 30 Question Id : 87827041855 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

ﬁ%awfww%:

FAT]: AT F AHAH FId AT AR STHE 2l ¢ |

FOTI: 0 F THAH S - SFHAHS S ST Terefa 2 €
SR HYA & el H, e U T forredl § § R T T FIfC

(1) oA 1R w13 7 &

(2) WU 1 2R w1 S 3 §
(3) HUTITA T, ol T U1 594 @
(4) HUTIHEA T, Al FIAT I TA €
Options :

878270164357. 1



878270164358. 2
878270164359. 3

878270164360. 4

Question Number : 31 Question Id : 87827041856 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

An advantage to a business that uses Intranet capabilities is that it allows employees to share the
business's information with

(1) Customers.

2

(3)  Competitors
g

Each other.

Former employees,

Options :

878270164361. 1
878270164362. 2
878270164363. 3

878270164364. 4

Question Number : 31 Question Id : 87827041856 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

5GP W F1 I ¢, T AT H} AN T ¢ 5 T wAAE A e A g
i o T4 W e 1 Tt e 7 ¢ -

(1) T & 9
) TE-THE M
%) et %
4) T FHAE & Y

Options:

(
(
(



878270164361. 1
878270164362. 2
878270164363. 3

878270164364. 4

Question Number : 32 Question Id : 87827041857 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Consider the following MS-EXCEL screenshot that shows the product code, name of the state
which produced the product and Quality of the product :

A B C D

1 |ProductCode| State |Quality

2 Al HP A

3 A2 MP A

4 A3 UP A

5 Ad UpP B

b A5 upP B

7

Which of the following EXCEL formulae can be typed in Cell D1 to answer the question : How
many different product codes form UP are of Grade “A” quality ?

A, = COUNTIFS (B2:Be, “=UP", C2:C6,"=A")

B. = COUNTIFS (C2:Co, “=A", B2:B6,"=UP")

C. = COUNTIFS (B2:B6, “UP”, C2:C6, “A")

Choose the correct answer from the options given below :

(I) (A)and (B) Only

(2) (A)and (C) Only

(3) (B) and (C) Only

(4) (A) (B) and (C)

Options :
878270164365. 1

878270164366. 2



878270164367. 3
878270164368. 4

Question Number : 32 Question Id : 87827041857 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

reifeifin Tom e e T R i o S Fe, e T 9 09 9 AW 6 3R
ﬁ‘]ﬂﬂﬂlﬂﬁf?ﬁﬁ%:

A B | C | D
1 | 3R*E | ™ | T

) Al HP | A

3 A2 MP | A

4 A3 WP [ A

5 Ad UP | B

b A UP | B

7

UP e o= 3601 1 “A” I T alel € 7 36 W 91 I <1 it ¥t D1 ¥ i ¥ 9
B 1 TRIE 93 259 f o e 8

A. = COUNTIFS (B2B6, "=UP", C2C6,"=A")

B. = COUNTIFS (C2:C6, “=A", B2:B6,"=UP")

C. = COUNTIFS (B2:B6, “UP", C2:C6, “A")

A fou T fosredl @ B Wl SR 1 T Fi

(1) % (A) 3T (B)
Q) @ (A) 3 (C)
() A (B) % (C)
(@) () @) (C)
Options :
878270164365. 1
878270164366. 2

878270164367. 3



878270164368. 4

Question Number : 33 Question Id : 87827041858 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I:  'Disk defragmentation’ makes files that are contiguous in a disk as fragmented.

Statement I1: A device controller that controls a device will deal with the operating system
through device driver.

In the light of the above statements, choose the most appropriate answer from the options given

below :

(1) Both Statement I and Statement II are true

2)  Both Statement I and Statement I are false

3

4) Statement | is false but Statement Il is true

(
(3) Statement I is true but Statement II is false
(

Options :

878270164369. 1

878270164370. 2

878270164371. 3

878270164372. 4

Question Number : 33 Question Id : 87827041858 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



%ﬂﬁﬁfﬂw%:

T ‘o femem folt fom  wam weel @) foifen & 2

FOT I g o, i ferel 4fe o e o feamew e g aAfoRfe freew 1 3
|

SR Ho % e §, T fou T fomredt # 9 W S T i

(1) R 13 e 11 3F 9 &

(2) YR 1 3R e 11 3 o §

() R 1T ¢, ©ife e 11 79

(4) U1 3 &, A FOF T §

Options:

878270164369. 1

878270164370. 2

878270164371. 3

878270164372. 4

Question Number : 34 Question Id : 87827041859 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following statements regarding Artificial Intelligence (AI) is/are correct ?

(A) Al systems can be used in email spam filters,

(B) Al systems are capable of analyzing uncertain information.

(C) An Al system is a system for capturing, storing, processing and displaying data related to
positions on earth’s surface.

Choose the correct answer from the options given below :

() (4)Only

(2) (A)and (B) Only

(3) (A) and (C) Only

(4) (B) and (C) Only

Options :

878270164373. 1



878270164374. 2
878270164375. 3

878270164376. 4

Question Number : 34 Question Id : 87827041859 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Fm g (Al) F Feol # Feforfen § @ B9 WA T 9@ 2R

(A) TaE (AL) T 1 YA Sl A et o feren <1 ek

(B) T (Al) Wgfe e e & forvermm o o ol €

(C) e (Al) Wf Yl %t o T feafedl & waftm 21 & T, HRw, TR T wev i ugf

8l
7 feu o foered # 9 WE SO o T
(1) ¥ (A
(2) A (A) 4 (B)
() A (A) 9 (Q
(@) I (B) 3 (C)
Options :

878270164373. 1
878270164374. 2
878270164375. 3

878270164376. 4

Question Number : 35 Question Id : 87827041860 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following features are available in word processing software such as MS-WORD ?
(A) Spell checker and Thesaurus

(B) Page Orientation

(C) Mail Merge

(D) Slide Transitions

Choose the correct answer from the options given below :

(1) (A), (B)and (D) Only

(2) (A)and (C)Only
(3) (B) and (C) Only
(4) (A), (B) and (C) Only

Options:

878270164377. 1
878270164378. 2
878270164379. 3
878270164380. 4

Question Number : 35 Question Id : 87827041860 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Ty 9 S 9 MR greem # frefafad § 8 @ afiwem syeey €7
(A) Tl <Rt SR I

(B) TS SN

(C) Wl WSl

(D) WIES

A feu T fomred @ | W ST 1 I HINC ;

(1) @ (A), (B) 3 (D)

Options :



878270164377. 1
878270164378. 2
878270164379. 3

878270164380. 4

Question Number : 36 Question Id : 87827041861 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which one of the following is not caused by polluted water ?
(1) Cholera
(2) Dysentery
(3) Typhoid
)

(4) Tuberculosis

Options :

878270164381. 1
878270164382. 2
878270164383. 3

878270164384. 4

Question Number : 36 Question Id : 87827041861 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Ffafad § wE-9t S gfod S % R0 2 el © 2

(1) &0

(2) sfeaR/afE

(3) TAREIS

(4) aufcer
Options :

878270164381. 1



878270164382. 2
878270164383. 3

878270164384. 4

Question Number : 37 Question Id : 87827041862 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement I Toxic chemicals often injure human organs and organ systems.
Statement I1:  Toxicants that damage kidneys are called as Hepatotoxic.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement I are correct
2)  Both Statement I and Statement II are incorrect
3

4) Statement I is incorrect but Statement 1l is correct

(
(3)  Statement I is correct but Statement II is incorrect
(

Options :

878270164385. 1

878270164386. 2

878270164387. 3

878270164388. 4

Question Number : 37 Question Id : 87827041862 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



%@imﬁf{w%:

FUT]:  Tawed TR T e o ST WMa S 9 W e vgeEn €
FUT: 9 g0 91 T i THIH TE9N €, 3% eURIRIGEE Fel S ¢ |
I FYH o A H, = I T foskedi § 9 W& I T4H HifoC
(1) Y1 AR HIT 1 SH el &

() AT R HAT I SH T ©
(3) Y I 9E B, lfehd SR 11 TTeTd ©
(4) YT 1A T, AfFT RO T €
Options:

878270164385. 1

878270164386. 2

878270164387. 3

878270164388. 4

Question Number : 38 Question Id : 87827041863 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the follnwing are related to ‘source reduction’ in inhegrated solid waste management ?

A)  Reduced Toxicity
B) Composting

) Landhll
E) More durable products

(

(

(C) Less Packaging
(D

(

Choose the correct answer from the options given below :
(1) (4) (8)and (C) Only
(2) (A), (C) and (E) Only
(3) (B), (C) and (D) Only
® (), (D)and (E) Only

Options :

878270164389. 1



878270164390. 2
878270164391. 3

878270164392. 4

Question Number : 38 Question Id : 87827041863 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

quferd 3 s yeve ¥, freferea § -9 8 e s’ | grafid §2

(A) T9=Tae femmaR
(B) ZHURE FAMI

(C) THfS W FT
(D) el

E) e femrs 3R
e feu e fosred @ U@ IR #1999 Fife
() e (A), (B) R ()
(2) o (A), (O 3R (E)
(3) e (B), (C) ¥ (D)
(4) % (C), (D) &R (E)
Options :

878270164389. 1
878270164390. 2
878270164391. 3
878270164392. 4

Question Number : 39 Question Id : 87827041864 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Depletion of stratospheric ozone results into

(A) Increase in the ultraviolet radiation

(B) Increase in infra-red radiation

(C) Increase in skin cancer

(D) Significant impact on terrestrial flora and fauna
(E) Decrease in cataract cases

Choose the correct answer from the options given below :
(1) (A), (B), (C) and (D) Only

(2) (A), (C) and (D) Only

3) (B), (©), (D) and (E) Only

(4) (A), (B) and (C) Only

Options:
878270164393. 1
878270164394. 2

878270164395. 3
878270164396. 4

Question Number : 39 Question Id : 87827041864 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



AT Hee g SSTH o Ffaaemtor (&) =1 999 81 ©
(A) e farferwor # gfg

(B) 3TeEd fafetu # dfg

(C) = FmH gfg

(D) Treira seafadi 31 Sia sigefi W Ayl guE
(E) wifaanfeg o el § Hl

A1 few T fomredi # § W& IO H =TI I ;
(1) 9 (A), (B), (C) 3R (D)

(2) F=d (A), (O) ¥R (D)

(3) %4 (B), (O), (D) 3R (E)

(4) %9 (A), (B) 3 (C)

Options :

878270164393. 1
878270164394. 2
878270164395. 3
878270164396. 4

Question Number : 40 Question Id : 87827041865 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Nitrous Oxide (N,O).

(A) causes acid rain

(B) islaughing gas

(C) 1is carcinogenic

(D) is a green house gas

(E) is a criterion air pollutant
Choose the correct answer from the options given below :
(1) (A), (D) and (E) Only

() (O, (D) and (E) Only

(3) (B) and (D) Only

(4) (A) and (E) Only

Options:
878270164397. 1
878270164398. 2

878270164399. 3

878270164400. 4

Question Number : 40 Question Id : 87827041865 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(A) =Tg IO 1 FEF T |

(B) feiT i (ZHH Ael 1) ¥

(C) FHEHF (FRFEASIAR) T

(D) WrE=g e

(E) T Hah agugua & |

A= feu 7o fasredi § € 9 39 &1 994 S
(1) = (A), (D) 3R (E)

(2) 9 (C), (D) ¥R (E)
(3) A (B) &R (D)
(4) A (A) 3R (E)
Options :

878270164397. 1
878270164398. 2
878270164399. 3

878270164400. 4

Question Number : 41 Question Id : 87827041866 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The Michael Sadler commission was constituted to study the problems of :
(1) Bombay University

(2) Madras University
(3) Poona University
(4) Calcutta University

Options :

878270164401. 1
878270164402. 2
878270164403. 3
878270164404. 4



Question Number : 41 Question Id : 87827041866 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

WEehel TEeR AR 1 T forqent guenat 1 7o 0 & fau farm mn a2

(1) il favafaeme
(2) e fovefaemed
(3) T fevefararea
(4) Serr fagafeaaed
Options :

878270164401. 1
878270164402. 2
878270164403. 3

878270164404. 4

Question Number : 42 Question Id : 87827041867 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The National Education Policy, 1986 recommended the establishment of _in the country.
(I) Community colleges

(2)  Open universities

(3) National universities of eminence

(4)  Discipline-wise universities

Options:

878270164405. 1
878270164406. 2
878270164407. 3

878270164408. 4



Question Number : 42 Question Id : 87827041867 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
et foner Hifa, 1986 = <1 T forgert o= T fawif &1 off ?
(1) HIHeIEes Helfa=ed

) He favafeaered

(3) U™ Scpreal favafaere™
) Taug-anr feavafasrem

Options :

878270164405. 1

878270164406. 2

878270164407. 3

878270164408. 4

Question Number : 43 Question Id : 87827041868 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement [ :  Curzon's uniuersit_\F reforms reflected the official attitude towards the spread of
higher education in [ndia.

Statement Il :  There was no resistance to the Indian universities Bill piloted by Curzon from
any section of Indians,

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement IT are true
2)  Both Statement I and Statement I are false

(
(3)  Statement I is true but Statement II is false
(4) Statement I s false but Statement II is true
Options :

8782701644009. 1



878270164410. 2
878270164411. 3

878270164412. 4

Question Number : 43 Question Id : 87827041868 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270164409. 1
878270164410. 2
878270164411. 3

878270164412. 4

Question Number : 44 Question Id : 87827041869 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - I List - II
(Ancient thinkers) (Area of study)
(A) Panini ()  Astronomy
(B) Jivaka (II) Grammar
(C) Bhaskara (IIT) Medicine
(D) Kanada (IV) Physics

Choose the correct answer from the options given below :
(1) (A)-(IL), (B)~(1D), (C)-(I), (D)-(IV)

(2)  (A)-(ID, (B)-(D), (O)(I), (D)-(IV)

(3) (A1), (B)-(l1), (C)-(I), (D)-(IV)

(4)  (A)-(ID), (B)-(IV), (O)-(I), (D)-(II)

Options :

878270164413. 1

878270164414. 2

878270164415. 3

878270164416. 4

Question Number : 44 Question Id : 87827041869 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-1 9 gEit-11 =1 e s .
Ti-1 -1

(e faemes ) ( ITT &)
(A) rforE ) Ea-fasm
(B) i@k (I) AR
(C) Wr=RY (I11) Tafshem
(D) TS (IV) Hifaerame

= feu v fasredi § § 98 I F1 =94 S
(1) (A)(I), (B)-(1D), (O)-(I), (D)-(IV)

(2)  (A)-(ID), (B)-(1), (O)-(I), (D)-(IV)
(3) (A1), (B)-(D), (©O)-{), (D)-(IV)
4) (A1, (B)-(1V), (O-(1), (D)-(I1)

Options :

878270164413. 1
878270164414. 2
878270164415. 3

878270164416. 4

Question Number : 45 Question Id : 87827041870 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - 1 List - I

(Name of University) (Year of Establishment)
(A) Bombay University (I) 1916
(B) Delhi University (II) 1943
(C) Utkal University (Im) 1922

-,

(D) SN.D.T. Women University (IV) 1857

Choose the correct answer from the options g'wen below :

(1) (A)-(V), (B)-(IL), (C)-(ID), (D)-(I)
(2) (A1), (B)-(IV), (C)(1D), (D)-(0)
(3)  (A)-(IV), (B)-(I), (C)-(1), (D)-(IT)
(4)  (A)-(), (BI-(II), (C)-IV), (D)-(0)
Options :

878270164417. 1
878270164418. 2
878270164419. 3

878270164420. 4

Question Number : 45 Question Id : 87827041870 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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( favafaemer & m) ( FRITOET oY )
(A) dirl favaforme (I) 1916
(B) feoeht favafammem (I) 1943
(C) Ichd Tavaia=med (1) 1922

(D) TH.UAELE. Hfgen fagafaemem (IV) 1857
= feu U fomredi § ¥ W& I N =999 HIfGT
(1) (A)-(IV), (B)-(IIL), (C)-(ID), (D)-(I)

(2)  (A)-(I), (B)-(IV), (C)-(1I), (D)-(D)

() (A)-(IV), (B)-(I), (O)-(T), (D)-(I)

(4) (A=), (B)-(11), (©)-(1V), (D)-(I)
Options :

878270164417. 1
878270164418. 2
878270164419. 3

878270164420. 4

Sub-Section Number : 3
Sub-Section Id : 8782701751
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 87827041871 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)

Question Label : Comprehension



Read the passage and answer the questions that follow :

Science and the techniques to which it has given rise have changed human life during the
last hundred and fifty years more than it had been changed since men took to agriculture, and the
changes that are being wrought by science continue at an increasing speed. There is no sign of any
new stability to be attained on some scientific plateau. On the contrary, there is every reason to
think that the revolutionary possibilities of science extend immeasurably beyond what has so far
been realised. Can the human race adjust itself quickly enough to these vertiginous transformations,
or will it, as innumerable former species have done, perish from lack of adaptability? The dinosaurs
were, in their day, the lords of creation, and if there had been philosophers among them, not one
would have foreseen that the whole race might perish. But they became extinct because they
could not adapt themselves to a world without swamps. In the case of man and science there is a
wholly new factor, namely that man himself is creating the changes of environment to which he
will have to adjust himself with unprecedented rapidity. But, although man through his scientific
skill is the cause of the changes of environment, most of these changes are not willed by human
beings. Although they come about through human agencies, they have, or at any rate have had so
far, something of the inexorable inevitability of natural forces. Whether Nature dried up the swamps
or men deliberately drained them, makes little difference as regards the ultimate result. Whether
men will be able to survive the changes of environment that their own skill has brought about is an
open question. If the answer is in the affirmative, it will be known some day; if not, not. If the
answer is o be in the affirmative, men will have to apply scientific ways of thinking to themselves
and their institutions.

Sub questions

Question Number : 46 Question Id : 87827041872 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Dinosaurs became extinct because of :
(I) A massive earthquake
) Incessant rainfall
(3) Extreme cold
) Lack of adaptability
Options :
878270164421. 1
878270164422. 2
878270164423. 3

878270164424. 4



Question Number : 47 Question Id : 87827041873 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In the scientific age who is responsible for the changing environment ?

(1) Nature

(2) Man

(3) Natural Disasters
(4) Wars
Options :

878270164425. 1
878270164426. 2
878270164427. 3

878270164428. 4

Question Number : 48 Question Id : 87827041874 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The main focus of the passage is on :
(1) Extinchion of Species

(2) Extinction of Dinosaurs

(3) Science and Human life

(4) Destruction of Forests

Options :

878270164429. 1

878270164430. 2

878270164431. 3

878270164432. 4

Question Number : 49 Question Id : 87827041875 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

i

“If the answer is in the affirmative .......... refers to the question related to :
(1) Changes in environment
(2)

(3) Human extinction

(4)

B!

Human survival

Changes in scientific approach
Options :

878270164433. 1

878270164434. 2

878270164435. 3

878270164436. 4

Question Number : 50 Question Id : 87827041876 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
According to the passage the following are true :
A) Science is bringing about rapid changes.
B) There is every likelihood that a scientific plateau will be reached.

D) There are chances that mankind may become extinct due to lack of adaptability.

(
(
(C) Man will definitely perish like the Dinosaurs,
(
(

E) Changes in the environment made through human agencies have so far shown almost the
same inexorable inevitability as that of natural forces in the past.

Choose the correct answer from the options given below :
(I) (A), (D) and (E) Only

) (4),(8)and (E) Only

(3) (A) and (E) Only

(4) (B), (C) and (E) Only

Options :

878270164437. 1

878270164438. 2



878270164439. 3

878270164440. 4

Question Id : 87827041871 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)

Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 87827041872 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



(1) 99 Y&y

(2) R aui

(3) =RW/aATAfaE i

(4)  FTIFHAAEA HT FHHI
Options:

878270164421. 1
878270164422. 2
878270164423. 3
878270164424. 4

Question Number : 47 Question Id : 87827041873 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

e 7 H waterer WiadA % fau #e SweEr € 2

(1) ¥

(2) HAIR/HTTE

(3) WM AT

(4) 95
Options:

878270164425. 1
878270164426. 2
878270164427. 3

878270164428. 4

Question Number : 48 Question Id : 87827041874 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270164429. 1
878270164430. 2
878270164431. 3

878270164432. 4

Question Number : 49 Question Id : 87827041875 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

(1) 9FieRT ¥ qftEd

(2) TS ST

(3) WM faqwiew

(4) T T H gREd
Options :

878270164433. 1
878270164434. 2
878270164435. 3

878270164436. 4

Question Number : 50 Question Id : 87827041876 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270164437. 1
878270164438. 2
878270164439. 3
878270164440. 4

Human Rights and Duties

Section Id : 878270953
Section Number : 2

Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 92
Number of Questions to be attempted : 92

Section Marks : 200

Enable Mark as Answered Mark for Review and

Yes
Clear Response:

Maximum Instruction Time : 0



Sub-Section Number : 1

Sub-Section Id : 8782701752
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 51 Question Id : 87827041877 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Ninety seventh Amendment Act to the constitution has made which one of the following
provision ?

(I) Promotion of cooperative societies

2)  Early childhood care and education
3

)
) Freelegal aid
4)

(
(
(4) Participation of workers in management
Options :

878270164441. 1

878270164442. 2

878270164443. 3

878270164444. 4

Question Number : 51 Question Id : 87827041877 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
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Options:

878270164441. 1



878270164442. 2
878270164443. 3

878270164444. 4

Question Number : 52 Question Id : 87827041878 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

The harmony and balance between 15 an essential feature of the basic structure of

the constitution :

(I)  Human rights and legal rights

(2)  Civil and economic rights

(3) Constitutional and fundamental rights

(4) Fundamental rights and Directive Principles of State Policy

Options:

878270164445, 1

878270164446. 2

878270164447. 3

878270164448. 4

Question Number : 52 Question Id : 87827041878 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270164445. 1



878270164446. 2
878270164447. 3

878270164448. 4

Question Number : 53 Question Id : 87827041879 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following represents a comprehensive plan of action to be taken globally, nationally
and locally by organisations of United Nations, Governments and major groups in every areas of
human activities that impacts the environment ?

(1) Article 21

(2) Agenda 2l

(3)  Action plan 21

(4)  Principle 21

Options :

878270164449. 1

878270164450. 2

878270164451. 3

878270164452. 4

Question Number : 53 Question Id : 87827041879 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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878270164449. 1
878270164450. 2
878270164451. 3

878270164452. 4

Question Number : 54 Question Id : 87827041880 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Whose idea is “Justice as Fairness” 7
(1) Adam Smith’s

(2) John Rawl's

(3) Karl Marx’s

(4) Max Weber's
Options :

878270164453. 1
878270164454. 2
878270164455. 3

878270164456. 4

Question Number : 54 Question Id : 87827041880 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
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878270164454. 2
878270164455. 3
878270164456. 4

Question Number : 55 Question Id : 87827041881 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Article 1(2) of the Convention on Racial Discrimination, 1965 does not apply to distinction, exclusion,
restriction or preference on the basis of ;

(I) Citizenship

2

Ethnicity

Options :

878270164457. 1
878270164458. 2
878270164459. 3
878270164460. 4

Question Number : 55 Question Id : 87827041881 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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878270164457. 1
878270164458. 2
878270164459. 3

878270164460. 4

Question Number : 56 Question Id : 87827041882 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In which of the following Generation of Human Rights are Civil & Political rights considered ?
(1

) 1% Generation
2) 2 Generation

)

)

(
(3) 3 Generation
(4) 4% Generation
Options :

878270164461. 1
878270164462. 2
878270164463. 3

878270164464. 4

Question Number : 56 Question Id : 87827041882 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

TREIERR S Tt o @ fog e o fofae @i aefas W faem form g2

Options :

878270164461. 1



878270164462. 2
878270164463. 3

878270164464. 4

Question Number : 57 Question Id : 87827041883 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The Brundtland Commission report - “our common future” made which of the following a widely
understood and accepted term ?

(1) Genocide

(2
§
(

Euthanesia

s

}

)
) Sustainable Development
) Dehumanization

Options :

878270164465. 1
878270164466. 2
878270164467.3
878270164468. 4

Question Number : 57 Question Id : 87827041883 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

et ST fiuR-' et v R Fvfafea § ¥ fR o T E 96 T e

(1) R
2) T T/ T
3) HYRUY foeRm
)

SRS

(
(
(4

Options:

878270164465. 1



878270164466. 2
878270164467. 3

878270164468. 4

Question Number : 58 Question Id : 87827041884 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The office of the UN High Commissioner for Human Righ ts was established b}f the General Assembl}f
on

(1)  December 10, 1989
(2) December 20, 1993
(3)  October 2, 1991
(4) May 2,19%

4
Options :
878270164469. 1
878270164470. 2
878270164471. 3

878270164472. 4

Question Number : 58 Question Id : 87827041884 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

e T HAEYeRR Sgad o TS whi 01 §ga T2 Herasll g1 4 i T of )
(1) 10 feHew, 1989

(2) 20 feHeR, 1993
(3) 2 R, 1991
(4) 27, 199
Options:

8782701644609. 1



878270164470. 2
878270164471. 3

878270164472. 4

Question Number : 59 Question Id : 87827041885 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Who created the V.Day movement - ‘one billion rising against violence’ A Global protest for justice
and gender equality in 2021 ?

(1) Idema Menzel

2

(2)  Eve Ensler
(3) Katherine Crenshaw
g

4)  Maria Mies
Options :
878270164473. 1
878270164474, 2

878270164475. 3

878270164476. 4

Question Number : 59 Question Id : 87827041885 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
i 2021 ¥ o511 & #7990 =W &R s WA (el i agen < F Rew § T
T e fofe afram e fo fea aidem (3t 2. amie) - e  fowg o fofer @m o
EIGER UG

Options:



878270164473. 1
878270164474. 2
878270164475. 3

878270164476. 4

Question Number : 60 Question Id : 87827041886 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In which year was [LO Convention No. 169 on Lndigenous and Tribal peoples convened ?

(1) 1989

)
(2) 1969
(3) 1990
(4) 1985
Options :

878270164477. 1
878270164478. 2
878270164479. 3

878270164480. 4

Question Number : 60 Question Id : 87827041886 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Sy UG SO AT e 3T Tl 3 ofgHE GE-169 g 9 wfaemEs &1 T

(I) 1989
(2) 1969
(3) 1990
(4) 1985
Options :

878270164477. 1

878270164478. 2



878270164479. 3

878270164480. 4

Question Number : 61 Question Id : 87827041887 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which article of the UN Declaration on the Righl to Developmenl, 1986 declares that ”Right to
development “ become part of an inalienable human righl ?

(1) Article 10
2)  Article 5
3)  Article 3
)

(
(@
(4)  Article 1

|
Options :

878270164481. 1
878270164482. 2
878270164483. 3

878270164484. 4

Question Number : 61 Question Id : 87827041887 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T % e Heitl 7 T S, 1986 % PH-§ S H T Ao § o # s
ST TR 1 ST o 77 7

% 10

()
Q) S
() s
) el
Options :

878270164481. 1



878270164482. 2
878270164483. 3

878270164484. 4

Question Number : 62 Question Id : 87827041888 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which committee prior to the Sachar committee specifically addressed the issue of Muslims ?
(1)  Gujural committee

@

(3) Kothari committee
4

Gupal singh committee

Nehru report

Options :

878270164485. 1
878270164486. 2
878270164487.3

878270164488. 4

Question Number : 62 Question Id : 87827041888 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

o i & 7 Forg i 3 e e 3 2 o fofie 7 & G f o7

Options:
878270164485. 1

878270164486. 2



878270164487. 3

878270164488. 4

Question Number : 63 Question Id : 87827041889 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

As per Minimum Wages Act, 1948, an adolescent is a person who has completed
years

(1) 15

(2) 17

(3) 16

4) 14

Options :
878270164489. 1
878270164490. 2
878270164491. 3

878270164492. 4

Question Number : 63 Question Id : 87827041889 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

9 Tgh fafTm, 1948 % SR O RO e /atern 98 ¢ o o 71 3 oM
T e 2l

(1) 15

() 17

(3) 16

(4) 14

Options :

8782701644809. 1

878270164490. 2



878270164491. 3

878270164492. 4

Question Number : 64 Question Id : 87827041890 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The Basic Needs Approach to Human Development was proposed by which of the following ?
(1) International Labour Organisation (ILO)

(2) UNDP

(3 WIO

(4) IUCN
Options:
878270164493. 1
878270164494. 2
878270164495. 3

878270164496. 4

Question Number : 64 Question Id : 87827041890 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

WHafaeTE FaHl sTavashal S (i) i feae g0 weqd foran w1 417
(1) SFRRIEME 99 Hied

@ W

(3) TG A A

(4) sEIHE
Options :

878270164493. 1
878270164494. 2

878270164495. 3



878270164496. 4

Question Number : 65 Question Id : 87827041891 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which one of the following founded the green belt movement ?
(1) Meaza Ashenahi

(2) Emitithal Mahmoup

(3) Wangaari Muta Maathai

(4) Oamilolo Odufuwa

sy

Options :

878270164497. 1
878270164498. 2
878270164499. 3

878270164500. 4

Question Number : 65 Question Id : 87827041891 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

et ugt aridiem (e gave) o IRy fega fwam on ?

(1) THamsT ST9E®w

(2) ufafeee weHM

(3) ST Ha Herd

(4) el Sgge
Options :

878270164497. 1
878270164498. 2
878270164499. 3

878270164500. 4



Question Number : 66 Question Id : 87827041892 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which Principle of the 1992 Rio Declaration states that “the right to development must be fulfilled
50 as to equitably meet developmental and environmental needs of present and future
generations “ ?

(I) Principle 1

(2
(3
(4

) Principle 2

) Principle 3

) Principle 4
Options:
878270164501. 1
878270164502. 2
878270164503. 3

878270164504. 4

Question Number : 66 Question Id : 87827041892 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

fedt ST, 1992 2 form g W ol T ¢ o orov o SHforae a1 38 VR 8 9 1A 0 o T
Tfen fod o T T 96l e 7 (oo w6 weny avasa & e € Y 9 fE
T

Options:
878270164501. 1
878270164502. 2



878270164503. 3

878270164504. 4

Question Number : 67 Question Id : 87827041893 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What do Dharma Sutras dismiss ?
(1) Revenue administration

(2) Maintenance of law and order
(3) Theories of political power

1)

(4) The idea of justice

Options :

878270164505. 1
878270164506. 2
878270164507. 3

878270164508. 4

Question Number : 67 Question Id : 87827041893 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

)
(2) SR TS el ST WA
(3) e v a-fagra

) =g T

Options :

878270164505. 1

878270164506. 2

878270164507. 3



878270164508. 4

Question Number : 68 Question Id : 87827041894 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

[n which of the following cases has the International Court of Justice observed that the principle of
self-determination of people has been recognised by the UN Charter and in the jurisprudence of
the court ?

(I) Case concerning military and para military activities in and against Nicaragua
(Nicaragua, v United states of America)

(2) Case Concerning the Aerial Incident of August, 10 1999 (Pakistan v India)

(3) Case Concerning East Timor (Portugal v Australia)

(4)  Case Concemning Border and Transborder Armed Action (Nicaragua v Honduras)

Options :

878270164509. 1

878270164510. 2

878270164511. 3

878270164512. 4

Question Number : 68 Question Id : 87827041894 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

frtfefian for o o S e 3 7R 6 @ o s & e @ §g T e d

T o faftre o wrm T R

(1) TR (PR oW W 1 T i) § Seh e #ie T e T @
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(2) 10 #, 1999 I T 971 B el o |

(3) ol it & Waord g (YTt o emefer) |

(4) T G IO 4 i | Heiford o (TR o FgU) |

Options :



8782701645009. 1
878270164510. 2
878270164511. 3

878270164512. 4

Question Number : 69 Question Id : 87827041895 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

How many Articles constitute the statute of the International Criminal Court ?
(1) 30 Articles

(2) 201 Articles
(3) 58 Articles
(4) 128 Articles
Options :
878270164513. 1
878270164514. 2
878270164515. 3

878270164516. 4

Question Number : 69 Question Id : 87827041895 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

SaiE € (TIfyeR) =rareE it Giafd # Fd fhat sT9=s € 2
(1) 30 s7F=

(2) 201 TweT
(3) 58 HTWT
(4) 128 =T
Options :

878270164513. 1



878270164514. 2
878270164515. 3

878270164516. 4

Question Number : 70 Question Id : 87827041896 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

The origin of RTI (Right to Information) is associated with which of the following ?
(1) Navodaya Vidyalaya Sangagathan

(

2)
(3) Kendriya Vidyalaya Sangagathan
(4)

Options :

Gramin Sarak Sangagathan

Mazdur Kisan Shakt Sangagathan

878270164517. 1
878270164518. 2
878270164519. 3

878270164520. 4

Question Number : 70 Question Id : 87827041896 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

ol o1 SAfRR (SR 2 &2 o1 3 feifRa # 9 foRad wreafs 8 7
(1) Ay fagare ged

(2) TTHIU HEF A

(3) = fagaed gsm

(4) Wit TR ot g1ed
Options:

878270164517. 1

878270164518. 2



878270164519. 3

878270164520. 4

Question Number : 71 Question Id : 87827041897 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following article from the constitution of India implies that there may be situations in
which there may be a conflict between fundamental rights and directive plmuples of state policy.

(1) Article 31 A
2) Article 31 B
3 Article 31 C
)

(
(@
(4) Aticle3lD

|
Options :

878270164521. 1
878270164522. 2
878270164523. 3

878270164524. 4

Question Number : 71 Question Id : 87827041897 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
W WA % o o o A arafed & o O uftfeefe 2w € ford wiferes siftnl
T Afo-Freve & wen wem-fote @ Tk 87

Options :

878270164521. 1



878270164522. 2
878270164523. 3

878270164524. 4

Question Number : 72 Question Id : 87827041898 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Universal periodic review (UPR) was tempered in March 2011 when Human Right Committee
HRC) Rapporteur was established to address_
1) Human Rights Situation in IRAN
) Volition by USSR
3) Human Right Volition in Polaroid
4)  Misuse of Sanction by USA

(
(
2
(
(
Options :

878270164525. 1
878270164526. 2
878270164527. 3

878270164528. 4

Question Number : 72 Question Id : 87827041898 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

el Fraiee Jee (Fiem) W aeed fo T o qreER S % See # (i)
v fefafiaa & fra & fom 1 7|

(1) & H g # e

Q) ATHTEI G A

(3) el H AR S

(4) . T it g o A e

Options:



878270164525. 1
878270164526. 2
878270164527. 3

878270164528. 4

Question Number : 73 Question Id : 87827041899 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

In which of the judicial decision, it was held that “no one can forcibly extract statement from the
accused who has every right to remain silent’

(1) Kharak singh v/s St. of UP

2) DK Basu v/sSt. of West Bengal

3) Nandini Satpsthy v/s P.L. Dani

4)  Prakash singh v/s UO.

(
(
(
Options :

878270164529. 1
878270164530. 2
878270164531. 3

878270164532. 4

Question Number : 73 Question Id : 87827041899 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

ferr =, aaffoeen QR gereen €1 8 for o o =T SR 9o 9 T o Rl € 4R 3
T T 1 s g

(1) @ g oW 3R Feu W

(2) % T T e e T
(3) e et o H .
(4) R 5 oM A

Options :



878270164529. 1
878270164530. 2
878270164531. 3

878270164532. 4

Question Number : 74 Question Id : 87827041900 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following theorist is not a proponent of the Marxist perspective ?
(1) Karl Marx
2

-
=

(2) Lenin

(3) Rosa Luxemberg
(4) Thomas Hobbes
Options :
878270164533. 1
878270164534. 2
878270164535. 3

878270164536. 4

Question Number : 74 Question Id : 87827041900 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
et § | ®F | fagiaer 7 Haret g &1 THefE 76 © 7
(1) et A

(2) <A

(3) STl A

(4) 9vE ey
Options :

878270164533. 1



878270164534. 2
878270164535. 3

878270164536. 4

Question Number : 75 Question Id : 87827041901 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

The youngest regional human rights system is the :

(1) American system

(2) African system

(3

) Asian
(4) European system

Options :

878270164537. 1
878270164538. 2
878270164539. 3

878270164540. 4

Question Number : 75 Question Id : 87827041901 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

FETaY &EE AHE R 89 §
(1) R &5

(2) BRI T3

(3) eI

(4) FUHE T

Options:
878270164537. 1

878270164538. 2



878270164539. 3

878270164540. 4

Question Number : 76 Question Id : 87827041902 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

“In the happiness of the subject lies the king's happiness, in their welfare his welfare”
Who said the above statement and where ?

(1) Isa m Appraised

(2) Kautilya in Arthshastra

(3) Manu in Yajurveda

(4) Ashoka in Edict

Options :

878270164541. 1

878270164542. 2

878270164543. 3

878270164544. 4

Question Number : 76 Question Id : 87827041902 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

‘oot & g W T g a Yo o e 8 € e 1 e ffed g g1

TR F For T o e fom ean?
(1) sufeg H

(2) arefome H Fifees 3

(3) TeLelR H W A

(4) TSN e A
Options :

878270164541. 1



878270164542. 2
878270164543. 3

878270164544. 4

Question Number : 77 Question Id : 87827041903 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the follnwmij [nternational lehal instrument creates obhgahon on WTO member states to
pmlecl planl varieties through intellectual property rights system by providing patent protection
or sui genem system of protectmn !

(I) TRIPS Agreement, 1995

(2) Paris Convention, 1883
(3)  Berne Convention, 1886
(4) Beijing Treaty, 2012
Options :

878270164545. 1
878270164546. 2
878270164547. 3

878270164548. 4

Question Number : 77 Question Id : 87827041903 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

fwfefen #r-11 A= fofeer 90 (FHTE) $62 (T afrR) g sue Hfgd de-
YO 7 U el ek e e SHuR YOl 3 Wem A en-f 1 i o o fova
SR -1 & Hewi A T 0 ¢ /

(1) fom (remensies) g, 1995
2) %rfm Sy, 1883
(3) & s, 1886
(4) sl gfy, 2012



Options :

878270164545. 1
878270164546. 2
878270164547. 3
878270164548. 4

Question Number : 78 Question Id : 87827041904 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The Armed Forces (Special powers) Act, 1958 has been originally applicable in which of the following
states :

(I) Assam, Tripura, Bihar

2

(3)  Arunachal pradesh, Assam, Jharkhand
g

Manipur, Meghalaya, Nagaland

Tripura, Kashmir, Mizoram, Kerala

Options:

878270164549. 1
878270164550. 2
878270164551. 3

878270164552. 4

Question Number : 78 Question Id : 87827041904 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Ty ot (oo wifeai ) aifufem, 1958 Frefafea § | fore ol & @ o 2
(1) e, FI, foer

(2) IR, HEleH, ARMCE
(3) SO e¥l, STHH, FEUS
(4) TIqu, SvER, e, e



Options :

878270164549. 1
878270164550. 2
878270164551, 3
878270164552. 4

Question Number : 79 Question Id : 87827041905 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which was the non binding document released as a result of Rio + 20 conference, 2012 ?
(1)  One Earth

(2)

(3)  The future we want
(4)

Transform our world

Sustainable green globe

Options:

878270164553. 1
878270164554. 2
878270164555. 3
878270164556. 4

Question Number : 79 Question Id : 87827041905 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

fretfefEn #H-9 s TwrEs (7)) & + 20 TeeH, 2012 3 Feresd ) foa w2
cefob

Options :



878270164553. 1
878270164554. 2
878270164555. 3

878270164556. 4

Question Number : 80 Question Id : 87827041906 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which one of the following main fundamental human rights is not protected by the [LO :
(1)  Child labour

(2)  Forced labour

(3)  Freedom from discrimination

(4)  Freedom of bargaining

Options :

878270164557. 1

878270164558. 2

878270164559. 3

878270164560. 4

Question Number : 80 Question Id : 87827041906 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

feeafeian ® ¥ o 4 o AR 39 1 S 7% U6 & (S 2 47 T ) 5 el e & 7
T 91

Options :

878270164557. 1



878270164558. 2
878270164559. 3

878270164560. 4

Question Number : 81 Question Id : 87827041907 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The 73rd and 74th Amendment of Indian constitution gave constitutional status to which of the
fnllowmg ?

() RTE&RTI

(2)  Panchayat & Municiple bodies
(3)  Lokayukt & Lokpal

(4) PIL & AFSPA

Options :

878270164561. 1
878270164562. 2
878270164563. 3

878270164564. 4

Question Number : 81 Question Id : 87827041907 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

e fae & 73 o 3R 74 e & wem & Frenfea # 4 fr gaenfe o fom
(1) fonen = aiferarm iR a1 SHferaR

2) TEEd SR TR
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(

Options:

878270164561. 1



878270164562. 2
878270164563. 3

878270164564. 4

Question Number : 82 Question Id : 87827041908 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which provision of the 1992 UN framework convention on climate change provides for inter-
generational equity to be taken into account by the state parties of the convention ?

(1) Article 103

Options :

878270164565. 1
878270164566. 2
878270164567. 3
878270164568. 4

Question Number : 82 Question Id : 87827041908 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

ey, e gt g7 e e e, 1992 % R swe § s 9w fF o g
il T e gR Sim-TerT Woa o o S T e 7

(1) &= 10)
() R ()
() T 50)
(4) R 30)

Options:



878270164565. 1
878270164566. 2
878270164567. 3

878270164568. 4

Question Number : 83 Question Id : 87827041909 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Why was Khairigah Rahmanyah in news in 2020 ?

(1) Her campaign against the Thai government to protect her community
(2) Her protest against Israeli military

(3) Her protest against [raian government

(4) Her campaign against the conflict in Northeast Nigeria

s,

Options :

878270164569. 1
878270164570. 2
878270164571. 3

878270164572. 4

Question Number : 83 Question Id : 87827041909 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

i Temtan 9 2020 § THEN H 4 off 2

(1) T 39 GUEA I e w0 & fore amd-Tean & foeg e arfvam
(2) TSI HURR % fovg S Wiy

(3) A WER F foeg ST A

(4) I Az § Ho o foeg 3T A

Options :

878270164569. 1



878270164570. 2
878270164571. 3

878270164572. 4

Question Number : 84 Question Id : 87827041910 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
The m‘jginal Magna Carta was in which language ?

(1) French
(2) Sanskrit

(3) Roman
(4) Latin
Options :

878270164573. 1
878270164574. 2
878270164575. 3

878270164576. 4

Question Number : 84 Question Id : 87827041910 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

ol HureRre! fohg wTaT H o1 7

) ; ok
(2) WERA
(3) T
(4) fed

Options:

878270164573. 1

878270164574. 2



878270164575. 3
878270164576. 4

Question Number : 85 Question Id : 87827041911 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

[UCN stands for which of the following ?
(1) International Union for Caring Nature

(2) Indian Union of Conservation of Nature

3) International Union of Co-Operating Nations
(4) International Union for Conservation of Nature
Options :

878270164577. 1
878270164578. 2
878270164579. 3

878270164580. 4

Question Number : 85 Question Id : 87827041911 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

AE YW TAFT YN FYF

(1) FeIa e wi HA T=R1

(2) TEAVA A SATH HEIH SHAF T
(3) ZEHEHA g ST R STeE A9
(4) IS A R FERETH HE A=
Options :

878270164577. 1

878270164578. 2

878270164579. 3



878270164580. 4

Question Number : 86 Question Id : 87827041912 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

With the reference to the relationship between Caste and Democracy, which of the following
authors coined the term “Second Democratic Upsurge” ?

(I) Yogendra Yadav

(2) Sundar Sarukkai

(3) Louis Dumont

(4) M. N Srinivas

Options :

878270164581. 1

878270164582. 2

878270164583. 3

878270164584. 4

Question Number : 86 Question Id : 87827041912 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
e 3 el o ot Waie & el # Freiferfas o 3 fovm o 1 fod ceri 3% T # G
fepn?

Options :
878270164581. 1

878270164582. 2



878270164583. 3
878270164584. 4

Question Number : 87 Question Id : 87827041913 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What was the review theme of the sixty-seventh Section - 2023 of the commission on the status of
women ?

(I) Eduction in digital age

(2) Empowerment of all women and girls

(3) Innovation and technological change

(4)  Empowerment of rural women and girls

Options :

878270164585. 1

878270164586. 2

878270164587. 3

878270164588. 4

Question Number : 87 Question Id : 87827041913 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Higar-wieerfa rEn 67 § 99 2023 h1 GHie-faud =am o1 ?
(1) Tefsdmagn 4 foan

(2) T wfeensii wg snfaresti s qIETIEH
(3) &Y TS YrRnfrery g
(4) oo afeensti vd aferel w1 eEre

Options :
878270164585. 1

878270164586. 2



878270164587. 3

878270164588. 4

Question Number : 88 Question Id : 87827041914 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In which of the following cases did the supreme court State that CEDAW (Convention elimination
of the all forms of discrimination against women) is part of integral scheme of fundamental rights
and Directive Principles in India :

(I) Apparel Expert Promotion V. AK. Chopra AIR 1999 S 625

(2) Madhu Kishwar v State of Bihar AIR 199 Sc 2178

(3) Vishakha v State of Rajasthan AIR 1997 S¢ 3011

(4)  Anuj Garg v Hotel Association of India AIR 2008 Sc 663

ey

Options :

878270164589. 1
878270164590. 2
878270164591. 3

878270164592. 4

Question Number : 88 Question Id : 87827041914 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

feetfefian o for Al H S =merd A foia fean fer it € < gy (et o g 9t e
o fasie o forcie Hah aifvrera) s e vl Ol AT (3w Tl %1 feed A o1 o
f,

(1) it e TR ST S T g T ST AR 1999 T 625

(2) WY forve oM TR 79 T 31 1 1996 TH it 2178

(3)  oremn s TR T T 815 SR 1997 T i 3011

(4) Tl Sl 9 IR e S T A AR 2008 TH H 663

Options :



878270164589. 1
878270164590. 2
878270164591. 3

878270164592. 4

Question Number : 89 Question Id : 87827041915 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

How much is the maximum duration allowed to the Human Righl Council to reach an outcome
from the submission of the complaint ?

(1)  One year
(2
(3
(4

) Two year

) Three year

) Four year
Options:
878270164593. 1
878270164594. 2
878270164595. 3

878270164596. 4

Question Number : 89 Question Id : 87827041915 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

forrrm 1 gl & oo R e % for e vitee @ wiea e sty fe &2

(1) v
) e
(3) i
(4) =

Options :



878270164593. 1
878270164594. 2
878270164595. 3

878270164596. 4

Question Number : 90 Question Id : 87827041916 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Name the landmark case of the Supreme Court of India that tried to establish harmony and balance
between fundamental rights and directive principles.

(1) Indra Sawhney case

(2)  Bhim Singhji case

(3) Kihoto Hollohon case

(4)  Minerva Mills case
Options :
878270164597. 1
878270164598. 2
878270164599. 3

878270164600. 4

Question Number : 90 Question Id : 87827041916 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
T o SR A 1 9 TG 9 A 9 ¢ o e e AR 09 % i e o F o
AT T Sqer @ FH 6 a i)
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Options :

878270164597. 1
878270164598. 2
878270164599. 3
878270164600. 4

Question Number : 91 Question Id : 87827041917 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

International Committee of Red Cross (ICRC) has a unique position as NGO because of which of
the following reasons ?

(A) Performs NGO function efficiently

(B) Refrains from religions and political agenda

(C) Monitors compliance with tour Geneva convention and 2 additional protocol
(D) Developed voluntary code of conduct to set standards
Choose the correct answer from the options given below :
(1) (C) and (D) Only

(2) (A) and (B) Only

(3) (A)and (C) Only

(4) (B) and (D) Only

Options:

878270164601. 1

878270164602. 2

878270164603. 3

878270164604. 4

Question Number : 91 Question Id : 87827041917 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1) (C)and (D) Only

) (A)and (B) Only

3) (A)and (C) Only

4 (B) and (D) Only

(
(
(
(

(
(
(

Options:

878270164601. 1
878270164602. 2
878270164603. 3
878270164604. 4

Question Number : 92 Question Id : 87827041918 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following statements about the office of the UN High commissioner for human rights
are correct ?

(A) It was established by the General Assembly

(B) It was established on December 20, 1993

(C) The office is located in Geneva

(D) Ms. N. Navanethan Pillay of South Africa was first high commissioner

(E) The office is headed by a High Commissioner appointed by the Sectetary General of the UN
Choose the correct answer from the options given below :

() (A),(B), C) and (D) Only

() (B) ©) (D) and (B) Orly

(3) (A), (B), (C) and (E) Only

@ (@A)

(
(
4 (A),(C), (D) and (E) Only



Options :

878270164605. 1
878270164606. 2
878270164607. 3

878270164608. 4

Question Number : 92 Question Id : 87827041918 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:
878270164605. 1
878270164606. 2
878270164607. 3

878270164608. 4

Question Number : 93 Question Id : 87827041919 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Morley - Minto Reforms Act of 1909 made which of the following arrangements :
A} It Introduced, for the first time, bicameralism at centre

(
(B) It Introduced dyarchy at the provincial level

(C) It granted franchise to limited number of people

(D) It provided (for the first time) for association of Indians with executive council of viceroy
(E) It remained official majority in the central legislative council

Choose the correct answer from the options g‘iven below :

(1) (D) and (E) Only

(2) (A), (B) and (C) Only
B (B) () and (B Ony
(4) (A), (B), (C) and (D) Only

Options :

878270164609. 1
878270164610. 2
878270164611. 3

878270164612. 4

Question Number : 93 Question Id : 87827041919 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270164609. 1
878270164610. 2
878270164611. 3

878270164612. 4

Question Number : 94 Question Id : 87827041920 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the follnwing statements pertain to ‘the protection of women from domestic violence Act

2005 7

(A) Covers women who are or have been in a relationship with the abuser where where both
parties have lived together in a shared Household

(B) It does not provide right of the women to reside in her matrimonial home if she does not have
rights in such a home or Household

(C) Empowers the magistrate to pass protection order in favour of the aggrieved person

(D) Provides for appointment of protection officers and registration of NGO's as service providers
Choose the correct answer from the options given below :

(I) (A)and (B) Only

(2) (B) and (D) Only

(3) (A),(C) and (D) Only
(4)  (B), (C) and Only
Options:
878270164613. 1
878270164614. 2
878270164615. 3

878270164616. 4

Question Number : 94 Question Id : 87827041920 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270164613. 1
878270164614. 2
878270164615. 3

878270164616. 4

Question Number : 95 Question Id : 87827041921 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following declaration/ convention/covenants have provisions to protect rights of

children :
(A) Convention in rights of children 1989

(B)  Universal declaration of human rights 1948

(C) International covenant on civil and political rights 1976
(D) Convention on rights of person with disabilities 2008
Choose the correct answer from the options given below :

() (A) (C) (D) Only

) (A), ) (C) Only
(B), (C), (D) Only
(), ) (

2
3
(4 (A). (B), (D) Only

J
Options:

878270164617. 1
878270164618. 2
878270164619. 3
878270164620. 4

Question Number : 95 Question Id : 87827041921 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
fereAferfia W © fert siroomstl/ sifsredi/efaert o e Sfemr Je & 36y § 2
(A) 9 YRR AaETE, 1989
(B) WIHRRT ! |G IO, 1948
(C) 3T fafoe e Temfae ser gEiae, 1976
(D) Teear Al o sfverrl dest sifuee, 2008
A feu v fosredi o 9 W SO 1 =59H FHifu
(1) @ (A), ), (D)
(2) WFa (A) (B) (O)
(3) @ (B), (C), (D)
(4) 9 (A), (B), (D)

Options :



878270164617. 1
878270164618. 2
878270164619. 3

878270164620. 4

Question Number : 96 Question Id : 87827041922 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following is NOT part of ].S. Mill conception on liberty :
(A) Principle of Individuality

(B) Liberty of thought and discussion

(C) Liberty as necessity rather than choice

(D) Individual is guided by faculty of reason

Choose the correct answer from the options given below :
(I) (A)and (C) Only

(2) (B) and (D) Only

(3) (©), and (D) Only

() () (O and (D)

Options :

878270164621. 1
878270164622. 2
878270164623. 3

878270164624. 4

Question Number : 96 Question Id : 87827041922 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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(1) = (A) 3R (C)

(2) %9 (B) R (D)
(3) a (C) 3R (D)
(4) = (B), (O) iR (D)
Options:

878270164621. 1
878270164622. 2
878270164623. 3

878270164624. 4

Question Number : 97 Question Id : 87827041923 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

According to Granville Austin which of the following can be described as the ‘Conscience of the
constitution’ ?

(A) Fundamental Rights

(B) Directive Principle

(C) Preamble of the constitution

(D) Fundamental Duties

(E) Objectives Resolution

Choose the correct answer from the options given below :

(1) (A), (B) and (E) Only

(2) (A), (B) and (C) Only
() (A), (C) and (D) Only
(4)  (A) and (B) Only



Options :

878270164625. 1
878270164626. 2
878270164627.3

878270164628. 4

Question Number : 97 Question Id : 87827041923 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270164625. 1
878270164626. 2
878270164627. 3

878270164628. 4

Question Number : 98 Question Id : 87827041924 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Which of the following are the components of European Human Rights Architecture :
(A) European Convention on Human Rights (ECHR|
(

B) European Court of Human Rights (ECtHR)

(C) Council of Europe (COE)

(D) Committe of Ministers (COM)

(E)  European Parliament

Choose the correct answer from the options given below :
() (A) (8) (©), (D) Only

@ ® (© ) ® Only
(3) (), (D), (E), (A) Only
@ () (A) (©) [ Only
Options :
878270164629. 1
878270164630. 2
878270164631. 3

878270164632. 4

Question Number : 98 Question Id : 87827041924 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T AHaTTeeR fo=mg & s fefafes § @ w0 9 €2
(A) FUdHE AFAERR Af9Ed (3 97 T 3R)
(B) JUMa AETTHRR = (3 & T %)
(C) Il 9ftug (§F =7 %)

(D) #=f wfafa (5 a1 )

(E) U HEe

=1 feu T foehedi H§ | Wet STY o 99 Hifel
(1) = (A), (B), (O), (D)

(2) = (B), (O), (D), ()

(3) @ (Q) (D), (B), (A)

(4) = (B), (A), (O), (B)

Options :

878270164629. 1

878270164630. 2

878270164631. 3

878270164632. 4

Question Number : 99 Question Id : 87827041925 Question Type : MCQ Option Shuffling
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Withrespect to rights of tribals in India, Autonomous District councils have attaineds high relevance.
In light of the above statement, consider the following statements :

(A)  Autonomous District councils are mentioned in the 6™ Schedule of Indian constitution
(B) One of the Purposes of the councils is ‘Self rule’

(C) The state of Manipur has one Autonomous District council

(D) Autonomous District councils are not mentioned in the 6% schedule of Indian constitution
Choose the correct answer from the options given below :

(1) (o) Only

() (8 (D) Only

() (0 Only

) ()& (C)Only

:No



Options :

878270164633. 1
878270164634. 2
878270164635. 3
878270164636. 4

Question Number : 99 Question Id : 87827041925 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A W ST o ST o Heiel H T el SR 3 el W o ol 1 ST RO o Al
T fffas s W fomm #ifem

(A) @ e YT 1 I 9 o v 1 9e g § g

(B) ftwe! o o=t el ¥ § T M ' WA ¢

(C) Wi 4 U @ foren o & |

(D) G % Tfaem 1 381 e ¥ @ foren i 91 3w T ¢

A1 fo T feeredl § & W& T A T H

Options:

878270164633. 1
878270164634. 2
878270164635. 3

878270164636. 4

Question Number : 100 Question Id : 87827041926 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Which of the necessities/sectors are identified under the ‘basic needs” approach ?

(A) Housing, Health, Food

(B) Water supply, Sanitation, Education
(C) Empowerment, Disaster Management
(D) Sustainable development, Shelter

(E)  Security, Employment generation

(I) (B) and (D) Only

(2) (A)and (B) Only

(3) (A)and (E) Only

(4) (C) and (D) Only

Options :

878270164637. 1
878270164638. 2
878270164639. 3

878270164640. 4

Question Number : 100 Question Id : 87827041926 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

YAV STEvaHe SN % S freiferd § § foF sravasrael # eEm A W €
(A) ST, Ty, T

(B) wergfd, |, foren

(C) SAYeRIE, &9, Foierd

(D) Fermui form, e
(

E) e, TSR go
3 few T foredt § @ T S B 5
(1) 9 (B) 4R (D)
(2) A (A) 3R (B)
(3) 9 (A) R (E)
(4) % (C) 4R (D)



Options :

878270164637. 1
878270164638. 2
878270164639. 3

878270164640. 4

Question Number : 101 Question Id : 87827041927 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following is correct w.r.t human rights, fundamental rights and emerging provisions
in the Constitution of India ?

(A) During emergency Atticle 21 cannot be suspended

(B) The State has the right to suspend the fundamental right ensured under Article 19, during
emergency

(C) Human rights and Fundamental rights are one and the same

(D) Article 358 empowers the government to revoke fundamental rights under Article 19 during
emergency

(E) Fundamental rights and human rights are absolute rights
Choose the correct answer from the options given below :

() (4)(0) & ) Only

) (A) ()& D) Only

(3) (B), (C) & (D) Only

4 (0, [D)& ([ Only

Options :
878270164641. 1
878270164642. 2

878270164643. 3
878270164644. 4

Question Number : 101 Question Id : 87827041927 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

T o e FaER Hifeen SR SR A 3w & o § Ffafen 7 § 39 8 w0

Wl

(A) SUTGRRICT 6 S S 21 el T fohel <1 Hefe

(B) T4 % T ST % S AT 19 § GHfeR g S i e w6 @ aiem ¢

(C) R 4R e afver <Rl o & €

(D) SR 358W HER F AT % N ofese 19 F i Sfecfan 7o Am ) v
3 9 G

(E) Wi sifeer S iR W ( Fe) Siberm & |

4 fou o foepedl # 9 W& S 1 T H

(1) A (A), (C) 3 (D)

Options :

878270164641. 1
878270164642. 2
878270164643. 3

878270164644. 4

Question Number : 102 Question Id : 87827041928 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



As set forth in the charter, the purposes of the United Nations are :
(A) To maintain international peace and security

(B) To develop friendly relations among nations based on respect for the principle of equal rights
and self determination of peoples

(C) To cooperate in solving international economic, social, cultural and humanitarian problems
and in promoting respect for human rights and fundamental freedom

(D) To be a centre for harmonizing the actions of nations in attaining these common ends
(E) To maintain hegemony of the permanent five members of the security council
Choose the correct answer from the options given below :

(1) (A) (8) () and (D) Only

(2) (A),(C), (D) and (E) Only
G (8), () (D) and (E) Only
() (A), (B) (D) and (E) Only
Options :
878270164645. 1
878270164646. 2
878270164647. 3

878270164648. 4

Question Number : 102 Question Id : 87827041928 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



A ¥ Sfeciad HIEHE % 3GV ¢

(A) ST Yifd T T A S T

(B) I o W TRl Wl - 074 o vl o e W amenfea e ¢ o e it ey fofe
FA |

(C) ST s, Qioer, Gipih 6 WY GREmd & GHYH U6 HHaTEn 1@ s
A HH A T § WA F

(D) 37 feeh a0 o e e o e e et e 8 4 A

(E) e WG & W7 T WE & SO ) o |

aﬁﬁwﬁm‘fﬁ@ﬁﬁmﬂwﬁm:

A) (B) (C)ﬁ{( )

Options:

878270164645. 1
878270164646. 2
878270164647.3

878270164648. 4

Question Number : 103 Question Id : 87827041929 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Article 1(1) of UN Convention against Torture 1984 lays down elements of torture. Which of the

following are included in essential elements as laid in Art 1(1).
(A) Act inflicting physical/mental pain or suffering
(B) Element of intent

(C) Specitic purpose

(D) Involvement of state official at least by acquiescence
(E) Pain arising from sanctions

Choose the correct answer from the options given below :

(1) (A),(C), (D), (E) Only

(@ (), () D) () Only
B) () (8),(C), (D) Only
() (A), () (C) (E) Only
Options :

878270164649. 1
878270164650. 2
878270164651. 3
878270164652. 4

Question Number : 103 Question Id : 87827041929 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



A  foeg A0 T SR, 1984 1 3PS 1(1) ARF) & il § (o 0 €1 oFfc (1) &
ST ST o B feferfan § @ 3 9 i &2
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(B) ¥ % T

(C) fafire

(D) " § %W 3qHfd 3 T eIl %) wferaa
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Options:

878270164649. 1
878270164650. 2
878270164651. 3

878270164652. 4

Question Number : 104 Question Id : 87827041930 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the folknwing Reginnal commissions reports to economic and social council :
A) Economic Commission for Africa

{
(B) Economic Commission for Asia

(C) Economic Commission for Latin America and the Caribbean
(D) Economic Commission for Europe

(E) Economic and Social Commission for Western Asia

Choose the correct answer from the options given below :
(1) (A), (B), (C) Only

(2 (4),(Q), (D), (E) Only
@) (&) (B), (©), (D) Only
(4 (A)(3), Q) D) [E

Options:

878270164653. 1
878270164654. 2
878270164655. 3
878270164656. 4

Question Number : 104 Question Id : 87827041930 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



frreafefian #R-4 A/l S S T S TR & Hiieed TR & €
(A) ST oMY S

(B) Tfvrars el M

(C) ifen srifiet T Ffoaré anffar s
(D) T anfeieR Sman

(E) fvam ufaE i w6 wmite S
e feu 0 fosredl 9 W@ SO o 99 i
(1) T (A), (B) ()

() %@ (4), (C), (D), (B

(3) e (A), (B), (C), (D)

(4)  (A) (B), ©), D) (E)

Options :

878270164653. 1
878270164654. 2
878270164655. 3

878270164656. 4

Question Number : 105 Question Id : 87827041931 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



One hundred Sixth constitutional amendment of 2023 has amended or inserted which of the
following articles ?

(A) Article 239A

(B) Article 330A

(C) Article 332A

(D) Article 334A
(E) Article 338A

Choose the correct answer from the options given below :

(1) (A) and (E) Only

() (A), (B), (C) and (D) Only
(3 (A), (C),and (E) Only

(4) (B), (C) and (D) Only
Options:

878270164657. 1
878270164658. 2
878270164659. 3
878270164660. 4

Question Number : 105 Question Id : 87827041931 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T B (1069) Faum TeR, 2023  Fretfetan § @ A o 9 gaiE A1 e fE
™ 7
(A) T 239A
(B) T 330A
(C) %% 3324
(D) &% 3M4A
(E) #T%T 336A
el e T foehedl § ¥ WE SR H T I
T (A) &M (E)
A), (), (C) ¥R (D)
)

Options:

878270164657. 1
878270164658. 2
878270164659. 3
878270164660. 4

Question Number : 106 Question Id : 87827041932 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which are the pillais of Agreement on Agriculture (AOA) :
(A) Export subsidies

(B) Food security

(C) Market access

(D) Transfer of agricultural technology

(E) Domestic support

Choose the correct answer from the options given below :
(1) (A), (O & (D) Only

(2)  (A), (C) & (E) Only

() (B), (C) & (D) Only

(4)  (A), (B) & (D) Only

Options:
878270164661. 1
878270164662. 2

878270164663. 3
878270164664. 4

Question Number : 106 Question Id : 87827041932 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



frfafed M Ffa w gusian (T s ) % wE 9 (F69) £
(A) Trama gerfaent (Efeas)

(B) @M &
(C) IR 9EH

Y grefiferal =1 gL
(E) =T HeMEd

= feu U foeredi § 9 Wer SO & =949 Hifa
(1) dd (A), (C) 3R (D)

(2) %9d (A), (O) ¥R (E)
(3) Ed (B), (C) iR (D)
(4) A (A), (B) 3R (D)
Options :

878270164661. 1
878270164662. 2
878270164663. 3

878270164664. 4

Question Number : 107 Question Id : 87827041933 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following would be requied to implement a national health policy of ‘Prevention, Not
[ntervention’ ?

(A) Eliminating a disabling environment and reducing use of harmful drugs

(B) Market for obsolete pharmaceuticals

(C) Change in public’s attitude towards Medicine and Health

(D) Fundamental change in the philosophy of medical establishment

Choose the correct answer from the options given below :

(1) (B)& (C)Only

@ (A) () & (D) Only
(3) (A), (D) and (B) Only
4) (B and (A) Only



Options :

878270164665. 1
878270164666. 2
878270164667. 3
878270164668. 4

Question Number : 107 Question Id : 87827041933 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

TR 31 T THH T 2 T Af 7 F o o fwifera o | 0 e s @ 7
(A) et TR 1 afewe SR e (sfcr) St 3 wAm

(B) ofefivl (rerifcrer ) S o fee forqom & Svee F

(C) %@ 3 Tame 3 Wi e 1 gl H ofted

(D) Terferei T & 39 H Wit Ta

Options:

878270164665. 1
878270164666. 2
878270164667. 3

878270164668. 4

Question Number : 108 Question Id : 87827041934 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following Conventions do not form part of 9 core Human Right Treaties which have
set up committee to monitor state parties compliance with Human Rights Obligations ?

(A) Convention on elimination of all forms of Racial discrimination

(B) Convention on rights of persons with disabilities

(C) Convention on suppression of traffic in women

(D) International slavery convention

Choose the correct answer from the options given below :

() (0) (D) Only

) (4) (0) Only

(A), (B) Only
(

2
(3)
() (8) (C) Only

J
Options:

878270164669. 1
878270164670. 2
878270164671. 3

878270164672. 4

Question Number : 108 Question Id : 87827041934 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
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Options :

878270164669. 1
878270164670. 2
878270164671. 3

878270164672. 4

Question Number : 109 Question Id : 87827041935 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Committe on Economic and Social Rights (CESCR) was set up by ECOSOC. The main function at
time of establishment were :

(A) Review periodic reports of parties

(B) Offer non binding recommendations

(C) Review violations and give decisions

(D)  Attributes actions/omission to state pertain

Choose the correct answer from the options given below :

(1) (©), (D) Only

() (), (C) Only
(3) (A), (B) Only
(4) (4], (D) Only
Options:

878270164673. 1
878270164674. 2
878270164675. 3

878270164676. 4

Question Number : 109 Question Id : 87827041935 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270164673. 1
878270164674. 2
878270164675. 3

878270164676. 4

Question Number : 110 Question Id : 87827041936 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following development occured in 1995 ?
(A) TRIPS

(B) TRIMS

(C) WTO

(D) Agenda 21

(E) GATS

Choose the correct answer from the options given below :
(1) (A), (C), (D) & (E) Only

() (B), (©), (D) & (E) Only

(3) (A), (B) (C) & (D) Only

(4)  (A), (B), (O & (E) Only

Options:
878270164677. 1
878270164678. 2

878270164679. 3
878270164680. 4

Question Number : 110 Question Id : 87827041936 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



ad 1995 H fr=ifera § § &M @ & gan ?
(A) fg=

-,

(B) few

(C) == ar =
Tl 21

(E) ™

= feu U foeredi § 9 Wer SO & =949 Hifa

(1) ad (A), (C), (D) 3R (E)

(2) FFA (B), (C), (D) ¥R (E)
(3) FaA (A), (B), (C) R (D)
(4) A (A), (B), (C) 3R (E)
Options :

878270164677. 1
878270164678. 2
878270164679. 3

878270164680. 4

Question Number : 111 Question Id : 87827041937 Question Type : MCQ Option Shuffling

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The Sexual Harassment of Women at Work Place (Prevention, Prohibition and Redressal Act pertains

to which of the following ?

(A) Every employer shall treat sexual harassment as a misconduct under the service rules

(B) The case of Vishakha and others vs the State of Rajastan

(C) Every employer shall provides a safe working environment at the work place

(D) Publication or making known contents of complaint and Enquiry proceedings

Choose the correct answer from the options given below :
() () (8)and (C) Only
) Ban ()Onl}’
), (0) and (D) Only
(A) & (B) Only

3

)
Y

:No



Options :

878270164681. 1
878270164682. 2
878270164683. 3
878270164684. 4

Question Number : 111 Question Id : 87827041937 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270164681. 1
878270164682. 2
878270164683. 3
878270164684. 4

Question Number : 112 Question Id : 87827041938 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are true as per National Commission for Scheduled Castes (NCSC) and
National Commission for Scheduled Tribes (NCST) :

(A) The consideration of India empowers the NCST and NCSC of regulate their own procedure

(B) Thestatutory Commissions of National Commission of Schedule Castes and Scheduled Tribes
came into being in India in 1992

(C) Article 338 A deals with National Commission for schedule castes

(D) The 80t constitutional Amendment Ac t, 2003 established National Commission for Scheduled
Tribe and National Commission for Scheduled Castes

(E)  Article 338 deals with National Commission for Schedule Tribes
Choose the correct answer from the options given below :

(1) (A), (), (D) Only

(2 (A), (C), (D) Only
6 () ) ) Ouly
(4) (&) (©), (E) Only
Options :
878270164685. 1
878270164686. 2
878270164687. 3

878270164688. 4

Question Number : 112 Question Id : 87827041938 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:
878270164685. 1
878270164686. 2
878270164687. 3

878270164688. 4

Question Number : 113 Question Id : 87827041939 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The two track system of Human Right protection in America was the result of which of the
following ,

(A) Adoption of America Convention of Human Rights (ACHR)
(B) Formation of Organisation of American States (OAS)

(C) Establishment of American Court of Human Rights (IACER)
(D) Adoption of UDHR

Choose the correct answer from the options given below :
(I) (B)and (D) Only

) (A) and (C) Only

(A) and (B) Only

(

2
(3)
(4) (C) and (D) Only

J
Options:

878270164689. 1
878270164690. 2
878270164691. 3

878270164692. 4

Question Number : 113 Question Id : 87827041939 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(A) ST AR ATHTT F1 e (T H T 3R)

(B)  aTHITH! T4 HEl I A (31 T TH)

(C) 3R SHTTRT WIFETHR =TTy i T9 (375 TH 21 U9 31R)

(D) 7S T SR A S

94 feu o fowed W @ WE IO @ 99 Fif
(1) e (B) 3R (D)
(2) W (A) 3R (C)
(3) e (A) ¥R (B)
(4) @ (C) #R (D)

Options :



878270164689. 1
878270164690. 2
878270164691. 3

878270164692. 4

Question Number : 114 Question Id : 87827041940 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What were the Strategies adopted by the Government of India under its new economic policy in

190s when India was leading towards an economic crisis ?
(A) Liberalization

(B) Sustainable Development
(C
(
(

)
) Privatisation
D)

E) Globalization

Massive Agricult‘ure

Choose the correct answer from the options given below :

(1) (A), (B) & (D) Only

(2) (A),(C) & (E) Only
() (A) (E) & (D) Only
) (C) (D) & E) Only
Options :

878270164693. 1
878270164694. 2
878270164695. 3

878270164696. 4

Question Number : 114 Question Id : 87827041940 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



1 1990 W W9 YT N Tohe T AN SR O 9 T il A § - FeiE @ 9 T
E S T 7

(A) ST

(B) Hd forH

(C) felEm

(D) T TR F
(E) el

A feu U fomredl # B @ T T Fifow
(1) 9 (A), (B) 4T (D)
(2) A (4), (C) ¥ (B
() @ (A), (B) 3 0)
(&) 9 (C) (D) ¥ (E)
Options:

878270164693. 1
878270164694. 2
878270164695. 3

878270164696. 4

Question Number : 115 Question Id : 87827041941 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are correct w.r.t National Commission for Women (NCW) ?

(A) National Commission for Women was established as stipulated under the National Commission
for Women Act, 1990

(B) NCW was set up in 1%9%

(C) NCW is a statutory body

(D) NCW has to review the constitutional and legal safeguards for women
(E) The decision of NCW are enforceable

Choose the correct answer from the options given below :

1) () () () ) Only

() (B), (C), (D) Only
(3) (A), (C), (D) Only
() (A), (B), (D) Only
Options :

878270164697. 1
878270164698. 2
878270164699. 3

878270164700. 4

Question Number : 115 Question Id : 87827041941 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Tt wfeen (T 4 o) & i o frefers 8 9§ R G FE wE )

(A) T WfeeT ST 1 T T Heen A afufrm 1990 & e aefofen A A o
(B) g Wfgen S 1 e 199 H g4 o1

(C) T e e T wifaforn e €|

(D) g wfeen A i Afeens o fo autr i fofie g & wHe w7 2

(E) T wfeen S o o e |

4 few T et 9 R R 9 T A

(1) 5 (4). () (D), ()
() % (8) (C) (D)
() @ (4), (O) (D)
(4) % (4), (B), (D)
Options :
878270164697. 1
878270164698. 2
878270164699. 3

878270164700. 4

Question Number : 116 Question Id : 87827041942 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - 1 List - I
Nature of State Ambit of Nature of State
(A) Soft State () Economic Policy position favouring government
involvement in market process
(B) Welfare State (I) Selective use or absence of coercive instruments & power
of the states
(C) Repressive State () A way of governing in which the state or established group
of social institutions provides Basic economic security for
1ts citizens
(D) Interventionist State (IV) State appraise consist of army police, thejudiciary & prison

systems that primarily operate by means of physical &
mental coercion

Choose the correct answer from the options given below :

(1) (A1), (BRI, (OAL), (DY)

(&) (A, B)-{V), (©-{L), DKL)
() (AR, B}, ©-1v), D)-()
(@) (AIV), (BII), (CH0), (D))
Options:

878270164701. 1
878270164702. 2
878270164703. 3

878270164704. 4

Question Number : 116 Question Id : 87827041942 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



el ¥ Tl 1 e e
T LI

T & Tl T &l Vel ol &
(A) T=TH () SR o e ¥ s At foresd aTom o S 1 e &
(B) AT T (1) foeea il 1 T WA YA S St o 9
! W
(C) R T () 9T 1 O fafy el 15 crere st Sl &1 S Sg
S I % et e e g

(D) FEE T (V) T SR B, fers, =t iR F0E 7 Wi €
W YA S s wem % e § o o ¢

4 fou U foeredl # B W@ TR 9 H

(1) (AH), (B){I), (CHII), (DHIV)

(2 (AL, (B)-{V), (CHD), DKL)
() (M), -, C-V), (D))
(4)  (AHLV), (BID), (CHI), (D)

Options:

878270164701. 1
878270164702. 2
878270164703. 3
878270164704. 4

Question Number : 117 Question Id : 87827041943 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I

List - 1 List - 11
Convention/Protocol
(A) Geneva convention relative to the protection (I) 2007

of civilian persons in time of war

(B) Protocol I on Geneva convention dealing with (I) 1950
protection of victims of International Armed conflicts

(C) Third additional protocol to the Geneva conventions  (III) 1900

(D) Hague convention for the pacific settlement of (IV) 1979
International disputes

Choose the correct answer from the Dptinns given below :

(1) (AHD, (BRI, (OHIL), (D)-(IV)

(2 (AHIV), (B)HI), (O, (D))
(3) (AR, (B)-(IV), (C)-(1), (D)-(m)
(4) (A, B}-(D), (C-(1V), (D)-(ID)
Options:

878270164705. 1
878270164706. 2
878270164707. 3

878270164708. 4

Question Number : 117 Question Id : 87827041943 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Teit-1 9 Geft-11 =1 e s .

-1 e8]
ifaT/ ATl YaaA-ay
(A) g8 % g § fofofesm (am i) 4 () 2007
Hafyd S ST
(B) L T gol © difed & Tl § gl () 1950
S st gt Tem i |
(C) e SHTYEHA 1 a1y HfaiaR Jrerhid () 1900
(D) iy foaml & wifaqu foerd &g o0 sivewa (IV) 1979
el feu U foered ¥ Het I H =TI i ;

(D) (A, BR), (©IL), (D)-(IV)

() (AHIV), (BIL), (OA1D, (D)-(0)
() (AHI), B}-IV), (Q)-(0), (D)
(4) (A, B}-(D), (O-1V), (D))

Options:

878270164705. 1
878270164706. 2
878270164707.3

878270164708. 4

Question Number : 118 Question Id : 87827041944 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - 11
List - I List - II
Feminist Authors Name of Books
(A) Virginia Wolfe (I)  Justice, Gender and the Family
(B) Simone D. Bouvior (Il
(C) Mary Wollstonecraft (III) The second sex
(D) Susan Moller Okin ~ (IV) The vindication of the Rights of Women

Choose the correct answer from the options given below :

(1) (A)-(D), (B)-(I), (O(I), (D)-(IV)

) Room of one’s own
I

(2) (A, B)-D, ©)-(1V), (D)-(0)
(3)  (A)IL), (B)ID), (©)-(1), (D)-(IV)
(4)  (AMIV), (BHI), (O, (D)-()

Options :

878270164709. 1
878270164710. 2
878270164711. 3

878270164712. 4

Question Number : 118 Question Id : 87827041944 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Geit-1 9 G-I = el sifsm

Hefl-1 Ei-11
Arirarat eifEent Aok o1 ATH
(A) S 9% () wifew, St ue < Wi
(B) ©WH T dZaR () ®H 3F aF M
(C) W ATHTR () T Hhe HH
(D) TEA HIeR Sl (IV) T forStehud 31T § U32 | &% oo
=1 fou o fosredi § | WE SO & =9 FifT

(1) (A)-0), (BRL), (Q)-(), (D)-V)
2)  (A)-(1D), (B)-(ID), (O)-IV), (D)-(1

(2) (A1 )
(3) (AR, (B)-(ID), (O-(), (D)-(IV)
(4)  (AIV), (B)-(I), (O)-(D), (D)-(1)
Options :

878270164709. 1

878270164710. 2

878270164711. 3

878270164712.4

Question Number : 119 Question Id : 87827041945 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - IL.

List - I List - II

Constitution Amendement Matter Amended/Inserted/removed
(A) 102t Constitutional Amendment (I}  (EWS) Economic & Weaker Section

(B) 103" Constitutional Amendment ~ (II) (SEBC) Socially and Educationally Backward
Classes

(C) 104t Constitutional Amendment  (Il) (NCBC) National Commission for Backward
classes

(D) 105 Constitutional Amendment ~ (IV) Anglo-Indian Community

Choose the correct answer from the options given below :
(1) (A, (B)-(0), (CH1V), D}

(@ (AHI, B)-0), (CHLV), (D))
(3) (AR, (BHIV), (CHI), DHI)
(4)  (AHIV), (BIIL), (C)-{T), (D)-{)
Options :

878270164713. 1
878270164714. 2
878270164715. 3

878270164716. 4

Question Number : 119 Question Id : 87827041945 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Telt-1 § Felt-11 1 et it .
Tl Tft-11
g e e, affdwe g2
A) 1024 Hfqym ToeH () e w9 g Fer o (3 g T)
1039 HfeEmd ToeH (1) e T e w9 @ frgg o (@ & o)
C) 1043 Hfasm Feed () T g ot i (w6 A )
D) 10591 Hfaym F9Em (IV) SATE-SRA FEH
A feu U forredt W 9 WE T A A Fi ;
(1) (A, (B)-(1), (C-(IV), (D}

ki

(
(
(
(

(2) (A, B)-(), (CHIV), (D)
(3) (A}, (BIV), (CHD), DH(I)
(4)  (AHIV), (B, (OAH), (D}-0)
Options :

878270164713. 1
878270164714. 2
878270164715. 3

878270164716. 4

Question Number : 120 Question Id : 87827041946 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - I List - II
Enactment Year
(A) Juvenile Justice (Care and Protection of Children) (I) 2015
(B) Protection of Human Rights Act (II) 2006
(C) Protection of Civil Rights Act (III) 2000
(D) Prohibition of Child Marriage Act (IV) 1955

Choose the correct answer from the options giv en below :

(1) (A-IV), (B)-(I), (C}(ID), (D)«IM)
[1I)

(2)  (AHD), (BRI, (O)-(I0), (D)-(IV)
3)  (AHI), (BRI, (CIV), (D)HIL)
4)  (AHIV), (B)-II), (C)-(I1), (D)-()
Options :

878270164717.1
878270164718. 2
878270164719. 3

878270164720. 4

Question Number : 120 Question Id : 87827041946 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-1 9 -1 = e i

1:@"]‘.1 -11
(A) ToF9IR =ma (STl 1 <@ T 3IR FiEm) () 2015
FAfHfam
(B) WG R | SAiHiaH (I) 2006
(C) THfea sifererr Hamom sttsfam (II) 2000
(D) e foeme drauy sifufaam (IV) 1955
A fou U fospedl ® ¥ W& ST 1 FI HIT ;

(1) (A)-IV), (B)-(1), (C)-(L), (D)-(IL)

(2)  (A)D), (B)-(II), (C)-(IM), (D)-(IV)

(3) (A, (B)-(ID), (COHIV), (D)-(IID)

4)  (AHIV), (B)-(ILL), (O)-(1D), (D)-(I)
Options :

878270164717. 1
878270164718. 2
878270164719. 3

878270164720. 4

Question Number : 121 Question Id : 87827041947 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - I List - II
Titles of books Authors
(A) Audacity of hope (I)  Winstion 5. Churchill
(B) Road to power (I) Barrack Obama
(C) Nuclear weapons & foreign policy (I) Joseph Stalin
(D) The great democracies (IV) Hendry Kissinger

Choose the correct answer from the options given below :

(1) (A, B)-(1D, ©)-1), (D)-1V)

(2) (A, (B)-(IL), (C)-(IV), (D)-(1)
(3)  (A)D), (B)-(L), (C)-(IID), (D)-(IV)
() (A)IV), (B)H(I), (C}(ID), (D)-(I)
Options :

878270164721. 1
878270164722. 2
878270164723. 3

878270164724. 4

Question Number : 121 Question Id : 87827041947 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-1 9 gEit-11 =1 e s .
-1 -1

&kl o JilHeh [SECED
(A) sirefadt s 2y () fo=a wa. =fba
(B) UE T UER (I) =k ST
(C) —IfFeral 999 UUg WA ifedt  (II) 9% &=2H
(D) T e SHIhH (IV) &2t frfEsr

= feu 7o foredi § | W& I 1 = ST
(1) (A)I), (B)-(1D), (©)-(I), (D)-(IV)

(2)  (A)-(1D), (B)-(ILT), (C)-(IV), (D)-(I)

(3)  (A)-(I), (B)-(II), (C)-(IID), (D)-(IV)

(4)  (A)HIV), (B)-(D), (C)-(II), (D)-(II)

Options :

878270164721. 1

878270164722. 2

878270164723. 3

878270164724. 4

Question Number : 122 Question Id : 87827041948 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - 1L

List -1 List - II
Statutes year
(A) The Prevention of Terrorism Act () 1980
(B) Unlawful Activities (Prevention) Act () 1974
(C) COFEPOSA (Conservation of Forign Exchange (IIT) 2002
and Prevention of Smuggling Activities) Act
(D) National Security Act (IV) 1967

Choose the correct answer from the Dpl‘iuns given below :

(1) (A}I), (B}-(IV), (CH1D), (O)-0)

(&) (AHID, B)-(1). (OALV), (D))
() (AHD, (BHIV), (C)-(I), (D}(I)
(4)  (AHI), (BHID, ©-0), (DY)
Options:

878270164725. 1
878270164726. 2
878270164727.3

878270164728. 4

Question Number : 122 Question Id : 87827041948 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-1 9 -1 = e i

1:@"]‘.1 -11
Hfafa CL|
(A) rdeR TR stfufm () 1980
(B) Tate-fawg & (fHamor) sifufam (II) 1974
(C) WHUFEsd ey (focef fafma gwo (1) 2002
FHR TR FrEFhend 61 FHamo)
(D) U= gee s (IV) 1967

= fou o foeredl § ¥ W@ SO 1 994 Fifed
(1) (A)-(II), (B)-(IV), (C)-(II), (D)-(I)
(2) (A, B)-(1), (O)-(1V), (D)-(I)
@) (A)D), (B)(IV), (C)-(I), (D)-(I)
(4)  (A)-(), (B)-(1D), (C)-(D), (D)-(IV)
Options :
878270164725. 1
878270164726. 2
878270164727. 3

878270164728. 4

Question Number : 123 Question Id : 87827041949 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - 11

List - 1 List - II
Organisations/Treaties Year
(A) African charter on human and people (Iy 1963

right came into force
(B) Organisation of African unity (II) 2005
(C) African children committee came into force (III) 1999
(D) Protocol to charter on rights of women in ~ (IV) 1986
Africa came into force

Choose the correct answer from the options given below :
(1) (A)IV), (B)-(I), (C)-(ILT), (D)-(IT)

(2) (A1), (B)-(1D), (C)-0), (D)-(IV)

(3)  (A)(D), (B-(IV), (C)-(IL), (D)~(II)

(4)  (A)-(ID), (B)-(ID), (C)-(IV), (D)-()

Options :

878270164729. 1

878270164730. 2

878270164731. 3

878270164732. 4

Question Number : 123 Question Id : 87827041949 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-1 9 gEit-11 =1 e s .

ﬁ?ﬁ.[ -11
(A) HMEE UH SH SEhRR Hall sThih! () 1963
Y = AN BT
(B)  3TWhIehl Tehal ol HIEW (I) 2005
(C) =TIkl =Tat afufa 1 & & (I) 1999
(D) ThIhT H Higel sHeRRI ot (IV) 1986
=X o YI2Tehrel 1] gl

e fou o fomedi # 9 98 ST A 999 Fife
(1) (AIV), (B)-(1), (C)-(II), (D)-(I)
(2) (A, (B)-(1D), (©)-(I), (D)-(1V)
(3) (AL, (B)-(IV), (C)-(II), (D)-(IL)
(4) (A)-(1D), (B)-(ILD), (C)-(1V), (D)-(I)
Options :
878270164729. 1
878270164730. 2
878270164731. 3

878270164732. 4

Question Number : 124 Question Id : 87827041950 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - I List - II
Authors/Theorists Title to Serfdom
(A) John Rawls () The Road to Serfdom
(B) Thomas Aquinas (I) A Theory of Justice
(C) Thomas Hobbes () On Kingship
(D) Friedrich Hayek (IV) Leviathan

Choose the correct answer from the options given below :
(1) (A)-(IV), (B)-(IIL), (C)~(1D), (D)~(I)

(2) (A1), (B)-(I1I), (C)-(IV), (D)-(I)

(3) (A)-(I), (B)-(11), (C)-(I), (D)-(IV)

(4)  (A)-(I), (B)-(IV), (C)-(I), (D)~(II)

Options :

878270164733. 1

878270164734. 2

878270164735. 3

878270164736. 4

Question Number : 124 Question Id : 87827041950 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-1 9 gEit-11 =1 e s .
-1 E(t-11

g fagiaenT Uiah @ e
(A) 1 USTH O TS T gHeA
(B) oimg Ufgad (I) & A% Thes
(C) 9y gieH (1) &7 feRmTrerg
(D) EF T (IV) erfaaned

= feu 7o foredi § | W& I 1 = ST
() (A)IV), (B)-(IL), (O)(IL), (D)-(I)

(2)  (A)-(ID), (B)-(ILT), (C)-(1V), (D)-(I)

(3)  (A)-(II), (B)-(ID), (O)-(), (D)-(IV)

(4) (AL, (B-(1V), (C)-(II), (D)-(I)

Options :

878270164733. 1

878270164734. 2

878270164735. 3

878270164736. 4

Question Number : 125 Question Id : 87827041951 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I

List - I List - 11

Acts Years
(A) Indecent Representation of Women (Prohibition) Act () 1956
(B) Protection of Children from Sexual Offences Act (I) 1986
(C) Immoral Traffic (Preventaion) Act (III) 2012
(D) Protection of Women from Domestic Violence Act (IV) 2005

Choose the correct answer from the options given below :

(1) (AHD), (B, (O)-(), (D)-(IV)

(2 (AHIV), (BIHII), (C)H(ID), (D)-()
(3) (A}, (B)-(I, (C)-(1), (D)-(IV)
(4)  (AHI), (B}-(ID), (©)-(T), (D)-(IV)
Options :

878270164737. 1
878270164738. 2
878270164739. 3

878270164740. 4

Question Number : 125 Question Id : 87827041951 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



eit-1 9 Gt-11 1 foe I

Tefl-1 TE-11

arfufag CL|
(A) Hif anfore wqor (wfewy) srfufm () 1956
(B) ifiTe STORIEN | SeTeR! o1 WU SYfMfEH (I) 1986
(C)  @iferer =R (femon) stfufram (I 2012
(D) =Y fean & wigen wwem stfufem (IV) 2005

= feu o fomedi § © W& IO F T FHifo

(1) (AD), (B)-(I), (O)-(L), (D)-(IV)
(2)  (A)-IV), (B)-II), (COHII), (D)-(I)
(3) (A1, (B)-(ID), (O)-@), (D)-(IV)
(4) (A)HI), (B)(ID), (C)-(), (D)-(IV)
Options :

878270164737. 1
878270164738. 2
878270164739. 3

878270164740. 4

Question Number : 126 Question Id : 87827041952 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following landmark cases of the supreme court of India in chronological order :
A) Minerva Mills vs Union of India

(
(B)  Jaishri Laxmanrao Patil vs Union of India
(C) Shankari Prasad vs Union of India
(D) Maneka Gandhi vs Union of India
(E) Waman Rao vs Union of India

Choose the correct answer from the options given below :
(1) (©) (A), D), (B), (E)

) (©, (D) (A), (E), (B)
) (D) (©) (A) (E) (B)
(4) (B),(A), ©) D) (E)
Options:
878270164741. 1
878270164742. 2
878270164743. 3

878270164744. 4

Question Number : 126 Question Id : 87827041952 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

W o IeaaH = # fefofad ool d)) F FiergEE § ogafied i ;
(A) Tl foes sAm 9d 59

B) W4l TEHUNE Tifee g YA §H

C) Rl THIE S WG G

D) HT T S T H

E) ST T& S 91 G

14 feu T foredi H | W@ I B 99 I ;

(1) (©),(A), D), (B), (E)

(2) (), (D) (A), (E), (B)
) (D) (©) (A), (E), (B)
(4) (B), (A), (), D) ()

(
(
(
(



Options :

878270164741. 1
878270164742. 2
878270164743. 3
878270164744. 4

Question Number : 127 Question Id : 87827041953 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange the fn]lnwing Acts in Chr(mnlagical order of enactment :
(A) The Protection of Women from Domestic Violence Act

(B) The Maternity Benefits (Amendment) Act

(C) The Right to Information Act

(D) The Right to Property Act

Choose the correct answer from the options given below :

(1) (©), (D), (A), (B)
2) (D) (A) (©) (B)

)
3) (&), (B), (D), (©
@) (B), (A), (O, (D)
Options:
878270164745. 1
878270164746. 2
878270164747. 3

878270164748. 4

Question Number : 127 Question Id : 87827041953 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



fr=fefiaa sifufaei 39 sfufea % FergFd 1 | sraftyd Hifu |
e e § wigen s sfufam

(B) wdfa ygfaun (Fenem) sifufram

(C) Y= = (R Afefwm

(D) wigen Fufa sAuFER Afuf=H

= feu U fosmedi § 9@ W SO F TgH Hif
(1) (©), (D), (A), (B)
(2) (D) (A) (C), (B)
(3) (A), (B), (D), (©
4) (B), (A), (O), (D)

Options:

878270164745. 1
878270164746. 2
878270164747.3

878270164748. 4

Question Number : 128 Question Id : 87827041954 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange the fullnwing works of renowned authors in chmnc-lugical order :

(A) Amartya Sen - The Idea of Justice

(B) John Rawls - A Theory of Justice

(C) Robert Nozick -  Anarchy, State and Utopia

(D) M. Sandel - Liberalism and the limits of Justice

Choose the correct answer from the ﬂptiuns given below :

(1) (O, (B) (D), (A)

(2) (D) (B), (©) (A)
(3) (B, (C), (D) (A)
(4) (D) (B) (A) ©

Options :

878270164749. 1



878270164750. 2
878270164751. 3

878270164752. 4

Question Number : 128 Question Id : 87827041954 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

freaferfiga A gl it Fiodl F FEHATER w9 H Srafer Fifu |

(A) WA ET - T ofew ow Sfed

(B) AT - T HE e

(C) e ASF - o, Rz e g

(D) T HUed -  foerfoRw e T fofies siw sied
= few g ferredt o @ B S =TI B ;

(1) (©), (B) (D), (4)
(2) (D) (B), (©) (A
3 ®)(©) D)
(4) (D) (B

g
%
—
=
R—
-
—
9

Options :

878270164749. 1
878270164750. 2
878270164751. 3

878270164752. 4

Question Number : 129 Question Id : 87827041955 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following statements in the order as they appear in the declaration on the Right to
Development (1986) :

(A) The human person is central subject of development

(B) State shall take resolute steps to eliminate the massive and {lagrant violations of human
rights of people

(C) States have the duty to co-operate with each other in ensuring development

(D) The right to development is an in alienable human right

Choose the correct answer from the npl‘ions given below :

@) () 0)@A)©
2) (D) (4) () B

( (
3 ©)©) B) A
(@) (&), () B)©

Options:

878270164753. 1
878270164754. 2
878270164755. 3

878270164756. 4

Question Number : 129 Question Id : 87827041955 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

ferre % aifie e s, 1986 W el Hemi & 39 JU5RH € B FHRATE FH H
e e |

(A) A § T o @A fom 2 g

(B) T I o FIHGTYeRR] o R Ta A1 3eered o1 HHIE %1 o, Gewehioqd e a1 |

(C) T T/ HEAI T T4 1 Fded & |

(D) forre o1 AT ST - e 2

1 few T ol W 4 e S 1 T A

1) () (D) A)©

D), (A). (), (B)
D), (C), (B), (A)
A), D), (B), (€)
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(
2
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Options :

878270164753. 1
878270164754. 2
878270164755. 3

878270164756. 4

Question Number : 130 Question Id : 87827041956 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange the following agencies/ organisation in the chronological order according to their
formation :

(A) World Health Organization (WHO)

(B) The United Nations Human Rights Council (HRC)

(C) UN High Commission for Refugees (UNHCR)

(D) Amnesty International (Al

Choose the correct answer from the options given below :

() @) ) (), 6)

@ © () D) B
() (A) @, (D) B
@) © D) B) (4)

Options:

878270164757. 1
878270164758. 2
878270164759. 3

878270164760. 4

Question Number : 130 Question Id : 87827041956 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



ffefad sTeon/ATe #1 ST T & STTER FHATIR &1 § STafead Hifu |
(A) fovd wmees §eT (g T 1)

(B) HgF T WIGIHHR I0E (T3 37K §i)

(C) HFH T IRoNefi-3=A (3 T T4 i o)

D) T SR (T %)

= feu mu fomed o @ W S T Hif

(1) (A), D) (©) B

@ (), (4), (D) (B)
) (), ©, D) B)
@) Q) (D), (B) (A)
Options:
878270164757. 1
878270164758. 2
878270164759. 3

878270164760. 4

Question Number : 131 Question Id : 87827041957 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange the follnwing in the chmnological order :

otld programme for Human Right Education ; Adoption of the plan of action for the second
A) World prog for H Right Ed Adoy ftlpl['fl 1
phase

(B) Plan of action for the first phase of the world programme for Human Right Education
(C) UN Declaration on Human Rights Education & Training
United Nation Decade for Human Rights Education

(D)
Choose the correct answer from the options given below :

(1) (8),(C) (D) (4)
(
(3)
(

Options :



878270164761. 1
878270164762. 2
878270164763. 3

878270164764. 4

Question Number : 131 Question Id : 87827041957 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

frfcifEa =1 SFTesraTaR &1 H SaTfedd sifo |

(A) wHaTHeER e &g fava-rsn fgdia = &g FE-ae & sfiER
(B) WHaHER e €q fava sy & qum =0 € FE-drsH
(C) WHaTHFR fae Td Sfoerr Seielt qud SgeEmon

(D) K T = AT HRR In-g9reh

=t feu e foeredl o @ W& IR H = HIf

(1) (B), (O (D), (A)

(2) (O, (B) (A) (D)

3) (D) (B), (A), (©)

(4) (D) (A) (©) (B)

Options :

878270164761. 1

878270164762. 2

878270164763. 3

878270164764. 4

Question Number : 132 Question Id : 87827041958 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which of the following is not correct about Nausen Refugee Award of UNHCR ?
(A) It was established in 1954

Nausen RDfugee Award honours [ml_y individuals and nrganisatinns

(
(C) The Award celebrates the legacy of Fridfjof Nausen

(D) Dr Angela Merkel was awarded this for her leadership work in Syria, Lebnon and Jordan to
protect people forced to flee

Choose the correct answer from the optians given below :

() @) 6)©

) ), 0)
) (B) and (D)
)|

4 (A), (B)and (D)

2
(3
(
Options:
878270164765. 1
878270164766. 2
878270164767.3

878270164768. 4

Question Number : 132 Question Id : 87827041958 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

i 4 7 TR Y e A 2

(A) 3! T o 1954 % T of

(B) T TR TOAR § et A T HA H GG feb ¢ |

(C) T TR frezait T o AeH % vee § foa o 2|

(D) SR USR5 e T, S U ST W ef i, Ve 3 el e 6 e e
T e T % 9 for e o

74 fey o fred 4 e 0 o e

1) @A) 6),©
2 )€, 0

Q)
HCERY
(@) (A) (B D)



Options :

878270164765. 1
878270164766. 2
878270164767. 3

878270164768. 4

Question Number : 133 Question Id : 87827041959 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange the following regional conventions according to their year of formation.
(A) European convention on human rights

(B) American convention human rights

(C) Banjul Charter

(D) Association of South East Asian Nations

Choose the correct answer from the options given below :

() D). (B) (A) ©)

(2) (), D), (B), ©)
() (©), (A), (B), (D)
@) (A) ®)(©) D)
Options:

878270164769. 1
878270164770. 2
878270164771.3

878270164772. 4

Question Number : 133 Question Id : 87827041959 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



freferfiaa & sTfugmal =61 376 Foe 99 & S8R SHafed Hife ;
7™ AR e

(B) TR AFETRR SifvEm

(C) S =T

(D) =f&or 9o wfve g g (i)

1 fou T foasedi § | W& SO & 999 Fifo

(1) (D), (B), (A), (C)

2 (A) D) (B), ()

@) (©), (A), (B), (D)

4) (A) (B), (O) (D)
Options:
878270164769. 1
878270164770. 2
878270164771.3

878270164772. 4

Question Number : 134 Question Id : 87827041960 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange the following public interest litigation cases in the chronological order :
(A) Hussainara Khatoon vs Home Secretary

(B) Olga Tellis vs Bombay Municipal Corporation

(C) Bandhua Mukti Morcha vs Union of India

(D) Rural Litigation and Entitlement Kendra vs State of Uttar Pradesh

(E) People’s Union for Democratic Rights vs Union of India

Choose the correct answer from the options given below :

(1) (A). (B), ), D). (E)
2 (&) (B, ©), B) D)
) (B, D) (B) (A) (©)
4 () (©), D) (E), (A)
Options :

878270164773. 1



878270164774. 2
878270164775. 3

878270164776. 4

Question Number : 134 Question Id : 87827041960 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

frfafea smfea afawet w FesragaR et wifs |
(A) TET BRI T TeEfaE
(B) S iy M sid T oo
(C) YT Hfem A FHH YRa-6Y
(D) ¥ feeHvH TUe derEeare g oM 3 Jodl T
(E) iYed giaa ®i SHishiedh T5ed oM R4
= feu 7o fasredi § € 9 39T &1 =994 Fife
(1) (A), (B), (©), (D), (E)
(2) (&), (B), (O, (B), (D)
(3) (E), (D), (B), (A), (O)
(4) (B), (C), (D), (E), (A)
Options :
878270164773. 1
878270164774. 2
878270164775. 3

878270164776. 4

Question Number : 135 Question Id : 87827041961 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following secessions in their chronological order :
(A) Bangladesh from Pakistan

(B) Lithuania from USSR
(C) Kosovo from Serbia
(D) South Sudan from Sudan

Choose the correct answer from the Dptiuns given below :

(1) (A), (B), (O, (D)

(2 (A), D) (B), (©
@) (A (B), (D), ©
@) (D) (A) (B) (©
Options:

878270164777. 1
878270164778. 2
878270164779. 3

878270164780. 4

Question Number : 135 Question Id : 87827041961 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
freferfiaa faursi =1 FIeRaTIaR Safeed wifs |
(A) WfREIE I e
(B) 4 7THTH R ¥ fagemnf
(C) Hfsian g shrgren
(D) HM ¥ e geH
= fou U fasredi § 9 W 3O 1 999 FIf9d
(1) (A), (B), (C) (D)

(2)  (A), (D) (B), (C)
(3) (&) (B), (D), (©
(4) (D) (A) (B), (©
Options :

878270164777. 1



878270164778. 2
878270164779. 3

878270164780. 4

Question Number : 136 Question Id : 87827041962 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement (I) :  The WTO does not prevent members from protecting human rights, but its rules
do constrain them,

Statement (II) : The main critique on the WTO is that its activities have serious human rights
imp]jcations but the organisation as such does not Pl'OPEl'l:f address human right
aspects of these activities.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement I are correct
,)

(2
&
(

4)  Statement I is incorrect but Statement Il is correct

Both Statement I and Statement II are incorrect

)
) Statement I is correct but Statement II is incorrect

Options :

878270164781. 1
878270164782. 2
878270164783. 3
878270164784. 4

Question Number : 136 Question Id : 87827041962 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270164781. 1

878270164782. 2

878270164783. 3
878270164784. 4

Question Number : 137 Question Id : 87827041963 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
[n the surrogacy Regulation Act 2021

Statement (I) :  Altruistic surrogacy means the surrogacy in which no fees, charge, remuneration
or monetary incentive is involved.

Statement (I) : A couple means a legally married Indian man & women, both above the age of
21 years

In the light of the above statements, choose the most appropriate answer from the options given

below

(1) Both Statement I and Statement I are correct

(2) Both Statement I and Statement II are incorrect

(3)  Statement I is correct but Statement II is incorrect

(

4)  Statement I is incorrect but Statement II is correct



Options :

878270164785. 1
878270164786. 2
878270164787. 3
878270164788. 4

Question Number : 137 Question Id : 87827041963 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1) R (1) S e (1) T 5 &

() R (1) o e (1) T o

(3) T (1) ¥ &, TR O (1I) 59 ¢

(4) R (I) 3 &, Wi Y (1) 59§

L

A

Options:

878270164785. 1
878270164786. 2
878270164787.3

878270164788. 4

Question Number : 138 Question Id : 87827041964 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Given below are two statements : one is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : Like a picture frame, an issue frame marks off some part of the world
Reason (R):  Like a building frame, an issue frame holds things together

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3)  (A) is correct but (R) is not correct

(4)  (A) is not correct but (R) is correct

Options :

878270164789. 1

878270164790. 2

878270164791. 3

878270164792. 4

Question Number : 138 Question Id : 87827041964 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A 2 o feu M E ;v arfene (A) & w9 ¥ e © o g S0 w0 (R)F Y H 2
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T FH & e §, A fou mu fowed | 4 W@ I 9w Fien
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(2) i (A) 3R (R) T € A (R), (A) T TR A W
(3) (A) 5 &, Tl (R) o5 &

(4) (A) ¥ T T (R) B 2

Options :

878270164789. 1

878270164790. 2



878270164791. 3

878270164792. 4

Question Number : 139 Question Id : 87827041965 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements : one is labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A) : Mandamus literally commands the person to whom it is addressed to perform
some public or quasi public legal duty which s/he has refused to perform

Reason (R): It is a discretionary remedy and the high court may refuse to grant mandamus
where is an alternative remedy for redressal of the injury complained of

In the light of the above statements, choose the most appropriate answer from the options given
below :

(I) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2)  Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3) (A) is correct but (R) is not correct
(4)  (A) is not correct but (R) is correct

Options :

878270164793. 1
878270164794. 2
878270164795. 3

878270164796. 4

Question Number : 139 Question Id : 87827041965 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270164793. 1
878270164794. 2
878270164795. 3

878270164796. 4

Question Number : 140 Question Id : 87827041966 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements : one is labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A) : The concept of Rule of Law, at national level, is a principle of constitutional law
where as the concept of rule of law, at international level, is a principle of the
international legal order,

Reason (R):  The Rule of law at international level is essential for sustained, inclusive and
equitable economic growth, sustainable development and the eradication of poverty

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both (A) and (R) are correct and (R} is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3)  (A) is correct but (R) is not correct
(

4)  (A) is not correct but (R) is correct



Options :

878270164797. 1
878270164798. 2
878270164799. 3
878270164800. 4

Question Number : 140 Question Id : 87827041966 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270164797. 1
878270164798. 2
878270164799. 3
878270164800. 4
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Question Shuffling Allowed : Yes

Is Section Default? : null



Question Id : 87827041967 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (141 to 145)

Question Label : Comprehension

The Influence of constitutions is all the more striking if one examines the drafting history of

Articles 24 of the Declaration, which guarantees the right to rest and leisure, including reasonable
limitations on working hours and periodic holidays with pay. Such a provision did not appear in
any of the draft declarations to which Humphery referred in preparing his draft outline. However,
the right to rest-days or to paid annual leave appeared in the constitutions of thirteen of the states
sur-veyed: nine Latin American states and four Communist states. From these constitutional
provision, Humphrey accordingly drafted a provision on the right to rest and leisure, which was
preserved in Article 36 of the Cassin draft and finally adopted in the Declaration text itself
(Article 24).
More generally, the human rights instruments of the eighteenth century mark the overall tenot
and language of the UDHR. One of the principal similarities can be seen in the underlying rationale
behind the UDHR, set out in the first recital of its preamble, namely the ‘inherent dignity” and the
‘equal and inalienable rights of all members of the human family’, which reflect the provisions of
the French Declaration, as well as the US Declaration of Independence. The inspiration these texts
provided is also seen in the UDHR's first article, which stipulates that all men are born free and
equal in dignity and rights.

Sub questions

Question Number : 141 Question Id : 87827041968 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Read the passage carefully and then answer the question.
What marks the overall tenor and language of the UDHR ?
(1) U.S Declaration of Independence

(2) Cassin Draft

(3) Humphery Draft

(4) Human Rights Instruments of 18% C

Options :
878270164801. 1

878270164802. 2



878270164803. 3
878270164804. 4

Question Number : 142 Question Id : 87827041969 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Read the passage carefully and then answer the question.
Which article in the UDHR is an example of the fact that various constitutions were influenced by

the drafting of the UDHR ?
(1) Article 36

(2) Preamble

(3) Article 24

(4)  Article 10
Options:
878270164805. 1
878270164806. 2
878270164807. 3

878270164808. 4

Question Number : 143 Question Id : 87827041970 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Read the passage f::’u.‘efull}F and then answer the question.
Which of the follnwing righl is not enshrined in Article 24 of the UDHR ?
(1)  Right to reasonable limitations on working hours

(2)  Right of periodic holidays with pay
(3) Rights to rest and leisure
(4) Right to paid annual leaves

Options:
878270164809. 1

878270164810. 2



878270164811. 3

878270164812. 4

Question Number : 144 Question Id : 87827041971 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Read the passage carefull}F and then answer the (question.

Which of the follnwing document gives reference to the idea of inherent digmty set out in
UDHR?

(I)  US Declaration of Independence Only
(2
(:
(

French Declaration Only
3

4

)
) Both U.S Declaration of Independence and French Declaration
) Cassin dealt

Options:

878270164813. 1
878270164814. 2
878270164815. 3

878270164816. 4

Question Number : 145 Question Id : 87827041972 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Read the passage carefull}F and then answered the questions.

The French Declaration influenced which of the following principles incorporation into UDHR ?
(I)  Right to rest days

(2)  Reasonable working hours

(3)  All men are born free and equal in dignity and rights
(4)  Free choice of employment

Options:

878270164817. 1

878270164818. 2



878270164819. 3
878270164820. 4
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Question Numbers : (141 to 145)

Question Label : Comprehension
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Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270164801. 1
878270164802. 2
878270164803. 3

878270164804. 4

Question Number : 142 Question Id : 87827041969 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
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878270164805. 1
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Question Number : 143 Question Id : 87827041970 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270164809. 1
878270164810. 2
878270164811. 3
878270164812. 4

Question Number : 144 Question Id : 87827041971 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
Fretf 4 g < 8 il 35 o o el fen % e v e 9
el SO (EI0aam) W e
(1) ael T o A S
(2) el T S
(3) TN I SRR AT SR e S o
(4) e

1
Options :

878270164813. 1
878270164814. 2
878270164815. 3

878270164816. 4
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Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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An important insight both in mainstream law and development scholarship and in some of

its critiques has been that legal rules should not be detached from key normative principles such as
the rule of law and human rights.
Childrens Rights - Based Approches to Development (CRBASD) is inherently normative because it
is about the human rights of childern (as cosified also in legal instruments). Normativity is indeed
one of its core principles. For this reson, CRBASD is less likely to be subjected to outright political
instrumentalisation. However, content-wise, the normativity of CRBASD may be rather weak or
even absent on key principles of sustainable development law such as those of intergenerational
justice, the precautionary principle and common but differentiated responsibility. Moreover,
environmental concerns beyond those in the interest of human beings may be difficult to incorporate.
Therefore, the substance of CRBASD's normative framework needs to complement the
intergenerational principle, the precautionary principle and the principle of common but
differentiated responsibility. Moreover, environmental concern beyond the anthropocentric ones
have to be incorporated (integration principle) if CRBASD is to speak meaningfully to sustainable
development. Whereas reconciliation may be possible, it will not come without deep-seated tensions
and dilemmas. Rather than to downplay these tensions and dilemmas, they should be identified
and debated from a critical perspective. Such critical reflection acknowledge the deliberative
character of CRBASD and opens up avenues for transformation and emancipation.

Sub questions

Question Number : 146 Question Id : 87827041974 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The Principle of Integration refers to
(1) Environmental concerns

(2) Anthropocentric concerns
(3) Technological concerns
(4) Developmental concerns
Options :

878270164821. 1
878270164822. 2
878270164823. 3

878270164824. 4

Question Number : 147 Question Id : 87827041975 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The sustance of CRBASD's normative framework needs to complement
(1) Deliberative character of CRBASD
2

(2)  Rights of children and aged persons
(3)  The Intergenerational principle, the Precautionary principle and the Principle of commons
)

4)  The Integration principle
Options :
878270164825. 1
878270164826. 2
878270164827. 3

878270164828. 4

Question Number : 148 Question Id : 87827041976 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Legal rules should not be detached from key normative principles such as _
(1)  The rule of law

(2) Human rights

(3) The rule of law and human rights

(4) Rights of children

Options :

878270164829. 1

878270164830. 2

878270164831. 3

878270164832. 4

Question Number : 149 Question Id : 87827041977 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Without a downplay of tenstion and deliemmas of reconciliation, they should be
(1) Ignored and rejected

(2) Identified and debated

(3)  Acknowledge and addressed

(4) Sorted and addressed

Options :

878270164833. 1

878270164834. 2

878270164835. 3

878270164836. 4

Question Number : 150 Question Id : 87827041978 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Content wise the normativity of CRBASD is ...... key principles of sustainable development law :

(I) Strong

(2) Weak
(3) Average
4)

4)  Below average

Options :

878270164837. 1
878270164838. 2
878270164839. 3

878270164840. 4

Question Id : 87827041973 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
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Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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878270164821. 1
878270164822. 2
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Question Number : 147 Question Id : 87827041975 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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878270164825. 1
878270164826. 2
878270164827. 3
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Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Correct Marks : 2 Wrong Marks : 0
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